



Himachal Pradesh University
NAAC Accredited 'A' Grade University

Tabulation Sheet in respect of First Semester Examination held in OCTOBER 2025. The Result of the student has been shown against their names and roll no.

Abbreviations

MM - Maximum Marks	CP - Credit Point (Credit * Grade)	M* - Pass With Grace	M. O - Marks Obtained	* - CCA for the subject not entered
CCA - Continuous Comprehensive Assessment	TP - Total Point	CGPI - Cumulative Grade Point Index	M.M - Maximum Marks	** - TE for the subject not entered
TE - Term End	TC - Total Credits	Dis - Discrepancy if any	M.P.M - Minimum Passing Marks	*** - Both TE and CCA not entered
PR - Practical	GPI - Grade Point Index	GR - Grace	RLA - Result Late due to Award	# - Practical Marks for the subject not entered
A, ABS - Absent	UMC - Unfair Means Case	CC - Cancelled	RLIA - Result Late due to Internal assessment	#*** - Pr. TE and CCA marks not entered

Grading :-

Percent Marks	Grade Point	Grade	Percent Marks	Grade Point	Grade	Percent Marks	Grade Point	Grade
95% and above	10.0	S+	70 to less than 75% Marks	7.5	A++	40 to less than 50% Marks	5.0	C
90 to less than 95% Marks	9.5	S	65 to less than 70% Marks	7.0	A+	less than 40% Marks	0.0	F
85 to less than 90% Marks	9.0	O++	60 to less than 65% Marks	6.5	A			
80 to less than 85% Marks	8.5	O+	55 to less than 60% Marks	6.0	B+			
75 to less than 80% Marks	8.0	O	50 to less than 55% Marks	5.5	B			

Course : BBA(Regular Batch)

Semester : First

ExamYear : OCTOBER 2025

College Name : NSCBM Govt. College, Hamirpur, Distt. Hamirpur (HP)

Date of Result Declaration : 21-January-2026

UNIV ROLL NO : 5252670001 CAND.NAME : AARTI DEVI REG NO : 25-HM-26	FATHER'S NAME : PARMOD KUMAR										MOTHER'S NAME : MADHU KUMARI				Exam Type : Fresh								
	Paper Detail																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.	
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Fundamental of Management and Organizational Behaviour (BBA102)	17	13	30	37	32	70	-	-	-	-	54	45	100	B	5.5	6	33.0				Reappear Paper Code (ENVS2AECC 02,BBA103)		
Statistics for Business Decisions (BBA103)	17	13	30	10	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Entrepreneurship Development (BBA104)	18	13	30	39	32	70	-	-	-	-	57	45	100	B+	6.0	6	36.0						
Environmental Science (ENVS2AECC02)	-	-	-	40	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0						
											MO/MM- / 400					TC-22	TCP --						
UNIV ROLL NO : 5252670002 CAND.NAME : ABHISHEK KUMAR REG NO : 25-HM-17	FATHER'S NAME : KARAM SINGH										MOTHER'S NAME : PITLA DEVI				Exam Type : Fresh								
	Paper Detail																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.	
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Fundamental of Management and Organizational Behaviour (BBA102)	17	13	30	18	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0				Reappear Paper Code (ENVS2AECC 02,BBA102,BB A103,BBA104)		
Statistics for Business Decisions (BBA103)	16	13	30	13	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Entrepreneurship Development (BBA104)	17	13	30	25	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Environmental Science (ENVS2AECC02)	-	-	-	19	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0						
											MO/MM- / 400					TC-22	TCP --						

UNIV ROLL NO : 5252670003 CAND.NAME : ABHISHEK SAKLANI REG NO : 25-HM-166			FATHER'S NAME : AMARJEET							MOTHER'S NAME : PREAM LATA							Exam Type : Fresh						
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.	
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Fundamental of Management and Organizational Behaviour (BBA102)	17	13	30	18	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0				Reappear Paper Code (ENVS2AECC 02,BBA102,BB A103,BBA104)		
Statistics for Business Decisions (BBA103)	15	13	30	8	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Entrepreneurship Development (BBA104)	15	13	30	31	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Environmental Science (ENVS2AECC02)	-	-	-	17	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0						
										-	MO/MM- / 400					TC-22	TCP --						
UNIV ROLL NO : 5252670004 CAND.NAME : ADITYA CHAUHAN REG NO : T25-HM-156			FATHER'S NAME : UDESH KUMAR							MOTHER'S NAME : SEEMA CHAUHAN							Exam Type : Fresh						
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.	
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Fundamental of Management and Organizational Behaviour (BBA102)	22	13	30	46	32	70	-	-	-	-	68	45	100	A+	7.0	6	42.0				Reappear Paper Code (BBA103)		
Statistics for Business Decisions (BBA103)	18	13	30	21	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Entrepreneurship Development (BBA104)	21	13	30	45	32	70	-	-	-	-	66	45	100	A+	7.0	6	42.0						
Environmental Science (ENVS2AECC02)	-	-	-	45	45	100	-	-	-	-	45	45	100	C	5.0	4	20.0						
										-	MO/MM- / 400					TC-22	TCP --						
UNIV ROLL NO : 5252670005 CAND.NAME : ADITYA THAKUR REG NO : 25-HM-142			FATHER'S NAME : SUBHASH CHAND							MOTHER'S NAME : OMAN DEVI							Exam Type : Fresh						
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.	
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Fundamental of Management and Organizational Behaviour (BBA102)	21	13	30	38	32	70	-	-	-	-	59	45	100	B+	6.0	6	36.0				Reappear Paper Code (ENVS2AECC 02,BBA103)		
Statistics for Business Decisions (BBA103)	19	13	30	15	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Entrepreneurship Development (BBA104)	21	13	30	37	32	70	-	-	-	-	58	45	100	B+	6.0	6	36.0						
Environmental Science (ENVS2AECC02)	-	-	-	27	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0						
										-	MO/MM- / 400					TC-22	TCP --						
UNIV ROLL NO : 5252670006 CAND.NAME : AJAY DOGRA REG NO : 25-HM-168			FATHER'S NAME : MALUK CHAND							MOTHER'S NAME : NEETA DEVI							Exam Type : Fresh						
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.	
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Fundamental of Management and Organizational Behaviour (BBA102)	20	13	30	35	32	70	-	-	-	-	55	45	100	B+	6.0	6	36.0				Reappear Paper Code (ENVS2AECC 02,BBA103,BB A104)		
Statistics for Business Decisions (BBA103)	18	13	30	23	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Entrepreneurship Development (BBA104)	20	13	30	25	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Environmental Science (ENVS2AECC02)	-	-	-	16	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0						
										-	MO/MM- / 400					TC-22	TCP --						
UNIV ROLL NO : 5252670007 CAND.NAME : AKRITI SHARMA REG NO : 25-HM-110			FATHER'S NAME : RAM SWARUP SHARMA							MOTHER'S NAME : SUNITA DEVI							Exam Type : Fresh						
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.	
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Fundamental of Management and Organizational Behaviour (BBA102)	25	13	30	40	32	70	-	-	-	-	65	45	100	A+	7.0	6	42.0				Reappear Paper Code (BBA103,BBA 104)		
Statistics for Business Decisions (BBA103)	20	13	30	20	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Entrepreneurship Development (BBA104)	19	13	30	25	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Environmental Science (ENVS2AECC02)	-	-	-	45	45	100	-	-	-	-	45	45	100	C	5.0	4	20.0						
										-	MO/MM- / 400					TC-22	TCP --						

UNIV ROLL NO : 5252670008 CAND.NAME : AMAN REG NO : 25-HM-108			FATHER'S NAME : PRAKASH CHAND						MOTHER'S NAME : ASHA DEVI						Exam Type : Fresh										
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	17	13	30	28	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0				Reappear Paper Code (BBA102,BBA 103)				
Statistics for Business Decisions (BBA103)	17	13	30	2	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0								
Entrepreneurship Development (BBA104)	15	13	30	34	32	70	-	-	-	-	49	45	100	C	5.0	6	30.0								
Environmental Science (ENV2AECC02)	-	-	-	55	45	100	-	-	-	-	55	45	100	B+	6.0	4	24.0								
										-	MO/MM- / 400					TC-22	TCP --								
UNIV ROLL NO : 5252670009 CAND.NAME : AMAN DOGRA REG NO : 25-HM-136			FATHER'S NAME : RAVI DUTT						MOTHER'S NAME : NEELAM KUMARI						Exam Type : Fresh										
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	17	13	30	27	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0				Reappear Paper Code (ENV2AECC 02,BBA102,BB A103,BBA104)				
Statistics for Business Decisions (BBA103)	16	13	30	9	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0								
Entrepreneurship Development (BBA104)	17	13	30	29	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0								
Environmental Science (ENV2AECC02)	-	-	-	11	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0								
										-	MO/MM- / 400					TC-22	TCP --								
UNIV ROLL NO : 5252670010 CAND.NAME : AMISHA DOGRA REG NO : 25-HM-35			FATHER'S NAME : RAMESH CHAND						MOTHER'S NAME : MEENA DEVI						Exam Type : Fresh										
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	29	13	30	41	32	70	-	-	-	-	70	45	100	A++	7.5	6	45.0	6.64	-	A+	Pass				
Statistics for Business Decisions (BBA103)	23	13	30	32	32	70	-	-	-	-	55	45	100	B+	6.0	6	36.0								
Entrepreneurship Development (BBA104)	29	13	30	44	32	70	-	-	-	-	73	45	100	A++	7.5	6	45.0								
Environmental Science (ENV2AECC02)	-	-	-	45	45	100	-	-	-	-	45	45	100	C	5.0	4	20.0								
										-	MO/MM- 243 / 400					TC-22	TCP - 146.00								
UNIV ROLL NO : 5252670011 CAND.NAME : ANAMIKA THAKUR REG NO : 25-HM-8			FATHER'S NAME : AJAY KUMAR						MOTHER'S NAME : REKHA DEVI						Exam Type : Fresh										
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	28	13	30	51	32	70	-	-	-	-	79	45	100	O	8.0	6	48.0	7.09	-	A++	Pass				
Statistics for Business Decisions (BBA103)	26	13	30	34	32	70	-	-	-	-	60	45	100	A	6.5	6	39.0								
Entrepreneurship Development (BBA104)	28	13	30	43	32	70	-	-	-	-	71	45	100	A++	7.5	6	45.0								
Environmental Science (ENV2AECC02)	-	-	-	57	45	100	-	-	-	-	57	45	100	B+	6.0	4	24.0								
										-	MO/MM- 267 / 400					TC-22	TCP - 156.00								
UNIV ROLL NO : 5252670012 CAND.NAME : ANCHAL BHATIA REG NO : 25-HM-124			FATHER'S NAME : AJAY KUMAR						MOTHER'S NAME : ALKA DEVI						Exam Type : Fresh										
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	19	13	30	43	32	70	-	-	-	-	62	45	100	A	6.5	6	39.0	-	-	-	Reappear Paper Code (BBA103)				
Statistics for Business Decisions (BBA103)	20	13	30	26	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0								
Entrepreneurship Development (BBA104)	19	13	30	35	32	70	-	-	-	-	54	45	100	B	5.5	6	33.0								
Environmental Science (ENV2AECC02)	-	-	-	71	45	100	-	-	-	-	71	45	100	A++	7.5	4	30.0								
										-	MO/MM- / 400					TC-22	TCP --								

UNIV ROLL NO : 5252670013 CAND.NAME : ANCHIT GUDRAL REG NO : 25-HM-55			FATHER'S NAME : VIRENDER SINGH						MOTHER'S NAME : RANJNA DEVI						Exam Type : Fresh								
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.	
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Fundamental of Management and Organizational Behaviour (BBA102)	17	13	30	35	32	70	-	-	-	-	52	45	100	B	5.5	6	33.0				Reappear Paper Code (BBA103,BBA 104)		
Statistics for Business Decisions (BBA103)	15	13	30	10	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Entrepreneurship Development (BBA104)	17	13	30	31	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Environmental Science (ENV2AECC02)	-	-	-	45	45	100	-	-	-	-	45	45	100	C	5.0	4	20.0						
										-	MO/MM- / 400					TC-22	TCP --						
UNIV ROLL NO : 5252670014 CAND.NAME : ANIRUD SHARMA REG NO : 25-HM-126			FATHER'S NAME : DATA RAM SHARMA						MOTHER'S NAME : NEENA DEVI						Exam Type : Fresh								
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.	
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Fundamental of Management and Organizational Behaviour (BBA102)	20	13	30	32	32	70	-	-	-	-	52	45	100	B	5.5	6	33.0				Reappear Paper Code (ENV2AECC 02,BBA103)		
Statistics for Business Decisions (BBA103)	26	13	30	20	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Entrepreneurship Development (BBA104)	17	13	30	35	32	70	-	-	-	-	52	45	100	B	5.5	6	33.0						
Environmental Science (ENV2AECC02)	-	-	-	31	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0						
										-	MO/MM- / 400					TC-22	TCP --						
UNIV ROLL NO : 5252670015 CAND.NAME : ANISHKA DHIMAN REG NO : 25-HM-52			FATHER'S NAME : VIJAY KUMAR						MOTHER'S NAME : KANCHAN DEVI						Exam Type : Fresh								
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.	
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Fundamental of Management and Organizational Behaviour (BBA102)	20	13	30	39	32	70	-	-	-	-	59	45	100	B+	6.0	6	36.0				Reappear Paper Code (ENV2AECC 02,BBA103)		
Statistics for Business Decisions (BBA103)	21	13	30	16	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Entrepreneurship Development (BBA104)	17	13	30	34	32	70	-	-	-	-	51	45	100	B	5.5	6	33.0						
Environmental Science (ENV2AECC02)	-	-	-	42	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0						
										-	MO/MM- / 400					TC-22	TCP --						
UNIV ROLL NO : 5252670016 CAND.NAME : ANJALI THAKUR REG NO : 25-HM-130			FATHER'S NAME : MANOJ KUMAR						MOTHER'S NAME : PUSHPA DEVI						Exam Type : Fresh								
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.	
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Fundamental of Management and Organizational Behaviour (BBA102)	18	13	30	32	32	70	-	-	-	-	50	45	100	B	5.5	6	33.0				Reappear Paper Code (ENV2AECC 02,BBA103,BB A104)		
Statistics for Business Decisions (BBA103)	16	13	30	8	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Entrepreneurship Development (BBA104)	16	13	30	26	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Environmental Science (ENV2AECC02)	-	-	-	40	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0						
										-	MO/MM- / 400					TC-22	TCP --						
UNIV ROLL NO : 5252670017 CAND.NAME : ANMOL DATYAL REG NO : 25-HM-9			FATHER'S NAME : ANIL KUMAR						MOTHER'S NAME : SHAILZA						Exam Type : Fresh								
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.	
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Fundamental of Management and Organizational Behaviour (BBA102)	18	13	30	55	32	70	-	-	-	-	73	45	100	A++	7.5	6	45.0				Reappear Paper Code (ENV2AECC 02,BBA103)		
Statistics for Business Decisions (BBA103)	15	13	30	17	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Entrepreneurship Development (BBA104)	20	13	30	38	32	70	-	-	-	-	58	45	100	B+	6.0	6	36.0						
Environmental Science (ENV2AECC02)	-	-	-	34	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0						
										-	MO/MM- / 400					TC-22	TCP --						

UNIV ROLL NO : 5252670018 CAND.NAME : ANSHITA KUMARI REG NO : 25-HM-31			FATHER'S NAME : RAJ KUMAR							MOTHER'S NAME : MEENA KUMARI							Exam Type : Fresh									
Paper Detail																										
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M													
Fundamental of Management and Organizational Behaviour (BBA102)	19	13	30	56	32	70	-	-	-	-	75	45	100	O	8.0	6	48.0				Reappear Paper Code (ENVS2AECC 02,BBA103,BB A104)					
Statistics for Business Decisions (BBA103)	24	13	30	15	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0									
Entrepreneurship Development (BBA104)	19	13	30	27	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0									
Environmental Science (ENVS2AECC02)	-	-	-	32	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0									
										-	MO/MM- / 400					TC-22	TCP - -									
UNIV ROLL NO : 5252670019 CAND.NAME : ANSHUL SADYAL REG NO : 25-HM-28			FATHER'S NAME : PAWAN KUMAR							MOTHER'S NAME : KAMLESH KUMARI							Exam Type : Fresh									
Paper Detail																										
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M													
Fundamental of Management and Organizational Behaviour (BBA102)	21	13	30	42	32	70	-	-	-	-	63	45	100	A	6.5	6	39.0	6.09	-	A	Pass					
Statistics for Business Decisions (BBA103)	23	13	30	41	32	70	-	-	-	-	64	45	100	A	6.5	6	39.0									
Entrepreneurship Development (BBA104)	17	13	30	39	32	70	-	-	-	-	56	45	100	B+	6.0	6	36.0									
Environmental Science (ENVS2AECC02)	-	-	-	45	45	100	-	-	-	-	45	45	100	C	5.0	4	20.0									
										-	MO/MM- 228 / 400					TC-22	TCP - 134.00									
UNIV ROLL NO : 5252670020 CAND.NAME : ANSHUL SHARMA REG NO : 25-HM-54			FATHER'S NAME : VIPAN							MOTHER'S NAME : VIJAY LAXMI							Exam Type : Fresh									
Paper Detail																										
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M													
Fundamental of Management and Organizational Behaviour (BBA102)	25	13	30	46	32	70	-	-	-	-	71	45	100	A++	7.5	6	45.0	-	-	-	Reappear Paper Code (BBA103)					
Statistics for Business Decisions (BBA103)	23	13	30	22	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0									
Entrepreneurship Development (BBA104)	21	13	30	44	32	70	-	-	-	-	65	45	100	A+	7.0	6	42.0									
Environmental Science (ENVS2AECC02)	-	-	-	45	45	100	-	-	-	-	45	45	100	C	5.0	4	20.0									
										-	MO/MM- / 400					TC-22	TCP - -									
UNIV ROLL NO : 5252670021 CAND.NAME : ARIF KHAN REG NO : T25-HM-174			FATHER'S NAME : SHONKI DEEN							MOTHER'S NAME : SAKINA							Exam Type : Fresh									
Paper Detail																										
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M													
Fundamental of Management and Organizational Behaviour (BBA102)	20	13	30	36	32	70	-	-	-	-	56	45	100	B+	6.0	6	36.0	5.82	-	B+	Pass					
Statistics for Business Decisions (BBA103)	19	13	30	32	32	70	-	-	-	-	51	45	100	B	5.5	6	33.0									
Entrepreneurship Development (BBA104)	15	13	30	48	32	70	-	-	-	-	63	45	100	A	6.5	6	39.0									
Environmental Science (ENVS2AECC02)	-	-	-	47	45	100	-	-	-	-	47	45	100	C	5.0	4	20.0									
										-	MO/MM- 217 / 400					TC-22	TCP - 128.00									
UNIV ROLL NO : 5252670022 CAND.NAME : ARJUN BHARDWAJ REG NO : 25-HM-137			FATHER'S NAME : SANDEEP BHARDWAJ							MOTHER'S NAME : SEEMA BHARDWAJ							Exam Type : Fresh									
Paper Detail																										
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M													
Fundamental of Management and Organizational Behaviour (BBA102)	19	13	30	45	32	70	-	-	-	-	64	45	100	A	6.5	6	39.0	-	-	-	Reappear Paper Code (ENVS2AECC 02,BBA103)					
Statistics for Business Decisions (BBA103)	20	13	30	18	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0									
Entrepreneurship Development (BBA104)	17	13	30	40	32	70	-	-	-	-	57	45	100	B+	6.0	6	36.0									
Environmental Science (ENVS2AECC02)	-	-	-	29	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0									
										-	MO/MM- / 400					TC-22	TCP - -									

UNIV ROLL NO : 5252670023 CAND.NAME : ARYAN VISHIST REG NO : T25-HM-269			FATHER'S NAME : SUNIL KUMAR						MOTHER'S NAME : MAMTA DEVI						Exam Type : Fresh										
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	21	13	30	38	32	70	-	-	-	-	59	45	100	B+	6.0	6	36.0	6.14	-	A	Pass				
Statistics for Business Decisions (BBA103)	25	13	30	33	32	70	-	-	-	-	58	45	100	B+	6.0	6	36.0								
Entrepreneurship Development (BBA104)	21	13	30	40	32	70	-	-	-	-	61	45	100	A	6.5	6	39.0								
Environmental Science (ENV2AECC02)	-	-	-	57	45	100	-	-	-	-	57	45	100	B+	6.0	4	24.0								
										-	MO/MM- 235 / 400					TC-22	TCP - 135.00								
UNIV ROLL NO : 5252670024 CAND.NAME : ASHISH REG NO : 25-HM-10			FATHER'S NAME : ANIL KUMAR						MOTHER'S NAME : MEENA KUMARI						Exam Type : Fresh										
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	19	13	30	37	32	70	-	-	-	-	56	45	100	B+	6.0	6	36.0	-	-	-	Reappear Paper Code (BBA103)				
Statistics for Business Decisions (BBA103)	19	13	30	21	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0								
Entrepreneurship Development (BBA104)	16	13	30	37	32	70	-	-	-	-	53	45	100	B	5.5	6	33.0								
Environmental Science (ENV2AECC02)	-	-	-	50	45	100	-	-	-	-	50	45	100	B	5.5	4	22.0								
										-	MO/MM- / 400					TC-22	TCP - -								
UNIV ROLL NO : 5252670025 CAND.NAME : BARUN RANA REG NO : 25-HM-143			FATHER'S NAME : VIJAY KUMAR						MOTHER'S NAME : PUNAM KUMARI						Exam Type : Fresh										
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	18	13	30	28	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0	-	-	-	Reappear Paper Code (ENVS2AECC 02,BBA102,BB A103)				
Statistics for Business Decisions (BBA103)	17	13	30	21	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0								
Entrepreneurship Development (BBA104)	16	13	30	35	32	70	-	-	-	-	51	45	100	B	5.5	6	33.0								
Environmental Science (ENV2AECC02)	-	-	-	17	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0								
										-	MO/MM- / 400					TC-22	TCP - -								
UNIV ROLL NO : 5252670026 CAND.NAME : BISHANT KUMAR REG NO : 25-HM-21			FATHER'S NAME : MADAN LAL						MOTHER'S NAME : MEENA KUMARI						Exam Type : Fresh										
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	15	13	30	38	32	70	-	-	-	-	53	45	100	B	5.5	6	33.0	-	-	-	Reappear Paper Code (ENVS2AECC 02,BBA103,BB A104)				
Statistics for Business Decisions (BBA103)	15	13	30	14	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0								
Entrepreneurship Development (BBA104)	16	13	30	17	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0								
Environmental Science (ENV2AECC02)	-	-	-	28	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0								
										-	MO/MM- / 400					TC-22	TCP - -								
UNIV ROLL NO : 5252670027 CAND.NAME : CHANDER SHEKHAR REG NO : 25-HM-208			FATHER'S NAME : RAMESH CHAND						MOTHER'S NAME : VIDYA DEVI						Exam Type : Fresh										
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	15	13	30	16	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0	-	-	-	Reappear Paper Code (ENVS2AECC 02,BBA102,BB A103)				
Statistics for Business Decisions (BBA103)	20	13	30	11	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0								
Entrepreneurship Development (BBA104)	16	13	30	39	32	70	-	-	-	-	55	45	100	B+	6.0	6	36.0								
Environmental Science (ENV2AECC02)	-	-	-	16	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0								
										-	MO/MM- / 400					TC-22	TCP - -								

UNIV ROLL NO : 5252670028 CAND.NAME : CHETAN SHARMA REG NO : 25-HM-146			FATHER'S NAME : KESHAV DUTT							MOTHER'S NAME : DIMPLE KUMARI							Exam Type : Fresh								
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	15	13	30	33	32	70	-	-	-	-	48	45	100	C	5.0	6	30.0				Reappear Paper Code (BBA103,BBA 104)				
Statistics for Business Decisions (BBA103)	24	13	30	11	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0								
Entrepreneurship Development (BBA104)	16	13	30	18	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0								
Environmental Science (ENV2AECC02)	-	-	-	47	45	100	-	-	-	-	47	45	100	C	5.0	4	20.0								
										-	MO/MM- / 400					TC-22	TCP --								
UNIV ROLL NO : 5252670029 CAND.NAME : CHHABI THAKUR REG NO : 25-HM-7			FATHER'S NAME : SURINDER KUMAR							MOTHER'S NAME : ARCHNA KUMARI							Exam Type : Fresh								
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	21	13	30	36	32	70	-	-	-	-	57	45	100	B+	6.0	6	36.0	6.36	-	A	Pass				
Statistics for Business Decisions (BBA103)	27	13	30	38	32	70	-	-	-	-	65	45	100	A+	7.0	6	42.0								
Entrepreneurship Development (BBA104)	18	13	30	50	32	70	-	-	-	-	68	45	100	A+	7.0	6	42.0								
Environmental Science (ENV2AECC02)	-	-	-	47	45	100	-	-	-	-	47	45	100	C	5.0	4	20.0								
										-	MO/MM- 237 / 400					TC-22	TCP - 140.00								
UNIV ROLL NO : 5252670030 CAND.NAME : DEVANSH REG NO : 25-HM-209			FATHER'S NAME : SUSHEEL KUMAR							MOTHER'S NAME : SEEMA DEVI							Exam Type : Fresh								
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	21	13	30	42	32	70	-	-	-	-	63	45	100	A	6.5	6	39.0	-	-	-	Reappear Paper Code (ENV2AECC 02)				
Statistics for Business Decisions (BBA103)	15	13	30	34	32	70	-	-	-	-	49	45	100	C	5.0	6	30.0								
Entrepreneurship Development (BBA104)	17	13	30	42	32	70	-	-	-	-	59	45	100	B+	6.0	6	36.0								
Environmental Science (ENV2AECC02)	-	-	-	15	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0								
										-	MO/MM- / 400					TC-22	TCP --								
UNIV ROLL NO : 5252670031 CAND.NAME : DIVYA KUMARI REG NO : 25-HM-145			FATHER'S NAME : KAMAL SINGH							MOTHER'S NAME : ANJU KUMARI							Exam Type : Fresh								
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	24	13	30	44	32	70	-	-	-	-	68	45	100	A+	7.0	6	42.0	6.36	-	A	Pass				
Statistics for Business Decisions (BBA103)	22	13	30	34	32	70	-	-	-	-	56	45	100	B+	6.0	6	36.0								
Entrepreneurship Development (BBA104)	17	13	30	38	32	70	-	-	-	-	55	45	100	B+	6.0	6	36.0								
Environmental Science (ENV2AECC02)	-	-	-	60	45	100	-	-	-	-	60	45	100	A	6.5	4	26.0								
										-	MO/MM- 239 / 400					TC-22	TCP - 140.00								
UNIV ROLL NO : 5252670032 CAND.NAME : HIMESH REG NO : 25-HM-48			FATHER'S NAME : SWARN KUMAR							MOTHER'S NAME : DEEPIKA							Exam Type : Fresh								
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	20	13	30	34	32	70	-	-	-	-	54	45	100	B	5.5	6	33.0	-	-	-	Reappear Paper Code (ENV2AECC 02,BBA104)				
Statistics for Business Decisions (BBA103)	21	13	30	33	32	70	-	-	-	-	54	45	100	B	5.5	6	33.0								
Entrepreneurship Development (BBA104)	21	13	30	19	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0								
Environmental Science (ENV2AECC02)	-	-	-	42	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0								
										-	MO/MM- / 400					TC-22	TCP --								

UNIV ROLL NO : 5252670033 CAND.NAME : ISHIKA REG NO : 25-HM-50			FATHER'S NAME : UMESH KUMAR						MOTHER'S NAME : ANUPAM DEVI						Exam Type : Fresh										
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	28	13	30	56	32	70	-	-	-	-	84	45	100	O+	8.5	6	51.0	6.91	-	A+	Pass				
Statistics for Business Decisions (BBA103)	25	13	30	39	32	70	-	-	-	-	64	45	100	A	6.5	6	39.0								
Entrepreneurship Development (BBA104)	25	13	30	40	32	70	-	-	-	-	65	45	100	A+	7.0	6	42.0								
Environmental Science (ENV2AECC02)	-	-	-	46	45	100	-	-	-	-	46	45	100	C	5.0	4	20.0								
										-	MO/MM- 259 / 400					TC-22	TCP - 152.00								
UNIV ROLL NO : 5252670034 CAND.NAME : KAJAL DHIMAN REG NO : 25-HM-16			FATHER'S NAME : KAMAL DEV						MOTHER'S NAME : ANITA DEVI						Exam Type : Fresh										
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	22	13	30	38	32	70	-	-	-	-	60	45	100	A	6.5	6	39.0	6.14	-	A	Pass				
Statistics for Business Decisions (BBA103)	22	13	30	32*	32	70	-	-	-	4	54	45	100	B	5.5	6	33.0								
Entrepreneurship Development (BBA104)	20	13	30	44	32	70	-	-	-	-	64	45	100	A	6.5	6	39.0								
Environmental Science (ENV2AECC02)	-	-	-	56	45	100	-	-	-	-	56	45	100	B+	6.0	4	24.0								
										4	MO/MM- 234 / 400					TC-22	TCP - 135.00								
UNIV ROLL NO : 5252670035 CAND.NAME : KANIKA KUMARI REG NO : 25-HM-135			FATHER'S NAME : RAKESH KUMAR						MOTHER'S NAME : MONU KUMARI						Exam Type : Fresh										
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	20	13	30	38	32	70	-	-	-	-	58	45	100	B+	6.0	6	36.0	-	-	-	Reappear Paper Code (BBA103)				
Statistics for Business Decisions (BBA103)	16	13	30	25	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0								
Entrepreneurship Development (BBA104)	21	13	30	43	32	70	-	-	-	-	64	45	100	A	6.5	6	39.0								
Environmental Science (ENV2AECC02)	-	-	-	62	45	100	-	-	-	-	62	45	100	A	6.5	4	26.0								
										-	MO/MM- / 400					TC-22	TCP - -								
UNIV ROLL NO : 5252670036 CAND.NAME : KANIKA KUMARI REG NO : 25-HM-53			FATHER'S NAME : VIJAY KUMAR						MOTHER'S NAME : ANJANA DEVI						Exam Type : Fresh										
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	20	13	30	32	32	70	-	-	-	-	52	45	100	B	5.5	6	33.0	-	-	-	Reappear Paper Code (BBA103)				
Statistics for Business Decisions (BBA103)	16	13	30	17	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0								
Entrepreneurship Development (BBA104)	21	13	30	37	32	70	-	-	-	-	58	45	100	B+	6.0	6	36.0								
Environmental Science (ENV2AECC02)	-	-	-	56	45	100	-	-	-	-	56	45	100	B+	6.0	4	24.0								
										-	MO/MM- / 400					TC-22	TCP - -								
UNIV ROLL NO : 5252670037 CAND.NAME : KARAN RAJ RATHOUR REG NO : 25-HM-148			FATHER'S NAME : NARENDER SINGH						MOTHER'S NAME : SUNINDRA DEVI						Exam Type : Fresh										
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	19	13	30	55	32	70	-	-	-	-	74	45	100	A++	7.5	6	45.0	-	-	-	Reappear Paper Code (ENV2AECC 02,BBA103)				
Statistics for Business Decisions (BBA103)	22	13	30	9	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0								
Entrepreneurship Development (BBA104)	19	13	30	53	32	70	-	-	-	-	72	45	100	A++	7.5	6	45.0								
Environmental Science (ENV2AECC02)	-	-	-	34	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0								
										-	MO/MM- / 400					TC-22	TCP - -								

UNIV ROLL NO : 5252670038 CAND.NAME : KARAN SINGH REG NO : 25-HM-127			FATHER'S NAME : KAMAL SINGH							MOTHER'S NAME : REENA DEVI							Exam Type : Fresh								
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	18	13	30	30	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0				Reappear Paper Code (ENVS2AECC 02,BBA102)				
Statistics for Business Decisions (BBA103)	20	13	30	37	32	70	-	-	-	-	57	45	100	B+	6.0	6	36.0								
Entrepreneurship Development (BBA104)	19	13	30	35	32	70	-	-	-	-	54	45	100	B	5.5	6	33.0								
Environmental Science (ENVS2AECC02)	-	-	-	24	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0								
										-	MO/MM- / 400					TC-22	TCP --								
UNIV ROLL NO : 5252670039 CAND.NAME : KARTIK BANYAL REG NO : T25-HM-1			FATHER'S NAME : NAVEEN KUMAR							MOTHER'S NAME : REKHA RANI							Exam Type : Fresh								
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	27	13	30	42	32	70	-	-	-	-	69	45	100	A+	7.0	6	42.0	6.41	-	A	Pass				
Statistics for Business Decisions (BBA103)	19	13	30	32	32	70	-	-	-	-	51	45	100	B	5.5	6	33.0								
Entrepreneurship Development (BBA104)	25	13	30	44	32	70	-	-	-	-	69	45	100	A+	7.0	6	42.0								
Environmental Science (ENVS2AECC02)	-	-	-	56	45	100	-	-	-	-	56	45	100	B+	6.0	4	24.0								
										-	MO/MM- 245 / 400					TC-22	TCP - 141.00								
UNIV ROLL NO : 5252670040 CAND.NAME : KARTIK CHAND REG NO : 25-HM-19			FATHER'S NAME : KRISHAN CHAND							MOTHER'S NAME : REETA DEVI							Exam Type : Fresh								
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	18	13	30	48	32	70	-	-	-	-	66	45	100	A+	7.0	6	42.0	-	-	-	Reappear Paper Code (BBA103)				
Statistics for Business Decisions (BBA103)	20	13	30	18	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0								
Entrepreneurship Development (BBA104)	21	13	30	42	32	70	-	-	-	-	63	45	100	A	6.5	6	39.0								
Environmental Science (ENVS2AECC02)	-	-	-	56	45	100	-	-	-	-	56	45	100	B+	6.0	4	24.0								
										-	MO/MM- / 400					TC-22	TCP --								
UNIV ROLL NO : 5252670041 CAND.NAME : KARTIK DAROCH REG NO : 25-HM-169			FATHER'S NAME : RAJ KUMAR							MOTHER'S NAME : MEENA KUMARI							Exam Type : Fresh								
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	16	13	30	15	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0	-	-	-	Reappear Paper Code (ENVS2AECC 02,BBA102,BB A103,BBA104)				
Statistics for Business Decisions (BBA103)	16	13	30	5	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0								
Entrepreneurship Development (BBA104)	16	13	30	18	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0								
Environmental Science (ENVS2AECC02)	-	-	-	11	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0								
										-	MO/MM- / 400					TC-22	TCP --								
UNIV ROLL NO : 5252670042 CAND.NAME : KARTIK KALSI REG NO : 25-HM-15			FATHER'S NAME : JASPAL KALSI							MOTHER'S NAME : SUNITA							Exam Type : Fresh								
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	18	13	30	28	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0	-	-	-	Reappear Paper Code (ENVS2AECC 02,BBA102,BB A103)				
Statistics for Business Decisions (BBA103)	16	13	30	22	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0								
Entrepreneurship Development (BBA104)	15	13	30	33	32	70	-	-	-	-	48	45	100	C	5.0	6	30.0								
Environmental Science (ENVS2AECC02)	-	-	-	20	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0								
										-	MO/MM- / 400					TC-22	TCP --								

UNIV ROLL NO : 5252670043 CAND.NAME : KARTIK RANOUT REG NO : 25-HM-139			FATHER'S NAME : SANJAY KUMAR						MOTHER'S NAME : SURESH KUMARI						Exam Type : Fresh								
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.	
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Fundamental of Management and Organizational Behaviour (BBA102)	17	13	30	20	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0				Reappear Paper Code (ENVS2AECC 02,BBA102,BB A103,BBA104)		
Statistics for Business Decisions (BBA103)	19	13	30	8	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Entrepreneurship Development (BBA104)	16	13	30	16	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Environmental Science (ENVS2AECC02)	-	-	-	40	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0						
										-	MO/MM- / 400					TC-22	TCP --						
UNIV ROLL NO : 5252670044 CAND.NAME : KASHISH THAKUR REG NO : 25-HM-141			FATHER'S NAME : SHAMSHER SINGH						MOTHER'S NAME : MEENA KUMARI						Exam Type : Fresh								
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.	
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Fundamental of Management and Organizational Behaviour (BBA102)	18	13	30	10	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0				Reappear Paper Code (ENVS2AECC 02,BBA102,BB A103,BBA104)		
Statistics for Business Decisions (BBA103)	14	13	30	8	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Entrepreneurship Development (BBA104)	16	13	30	2	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Environmental Science (ENVS2AECC02)	-	-	-	14	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0						
										-	MO/MM- / 400					TC-22	TCP --						
UNIV ROLL NO : 5252670045 CAND.NAME : KAVITA THAKUR REG NO : 25-HM-36			FATHER'S NAME : RAVI KUMAR						MOTHER'S NAME : SUNITA KUMARI						Exam Type : Fresh								
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.	
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Fundamental of Management and Organizational Behaviour (BBA102)	20	13	30	33	32	70	-	-	-	-	53	45	100	B	5.5	6	33.0				Reappear Paper Code (ENVS2AECC 02,BBA103,BB A104)		
Statistics for Business Decisions (BBA103)	28	13	30	22	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Entrepreneurship Development (BBA104)	20	13	30	27	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Environmental Science (ENVS2AECC02)	-	-	-	26	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0						
										-	MO/MM- / 400					TC-22	TCP --						
UNIV ROLL NO : 5252670046 CAND.NAME : KRISH THAKUR REG NO : 25-HM-47			FATHER'S NAME : SUSHIL KUMAR						MOTHER'S NAME : KAMLESH KUMARI						Exam Type : Fresh								
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.	
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Fundamental of Management and Organizational Behaviour (BBA102)	23	13	30	46	32	70	-	-	-	-	69	45	100	A+	7.0	6	42.0				Reappear Paper Code (BBA103)		
Statistics for Business Decisions (BBA103)	22	13	30	22	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Entrepreneurship Development (BBA104)	18	13	30	38	32	70	-	-	-	-	56	45	100	B+	6.0	6	36.0						
Environmental Science (ENVS2AECC02)	-	-	-	58	45	100	-	-	-	-	58	45	100	B+	6.0	4	24.0						
										-	MO/MM- / 400					TC-22	TCP --						
UNIV ROLL NO : 5252670047 CAND.NAME : KRISTY REG NO : 25-HM-111			FATHER'S NAME : SUBHASH CHAND						MOTHER'S NAME : KALPNA DEVI						Exam Type : Fresh								
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.	
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Fundamental of Management and Organizational Behaviour (BBA102)	20	13	30	38	32	70	-	-	-	-	58	45	100	B+	6.0	6	36.0				Reappear Paper Code (BBA103)		
Statistics for Business Decisions (BBA103)	24	13	30	25	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Entrepreneurship Development (BBA104)	24	13	30	42	32	70	-	-	-	-	66	45	100	A+	7.0	6	42.0						
Environmental Science (ENVS2AECC02)	-	-	-	45	45	100	-	-	-	-	45	45	100	C	5.0	4	20.0						
										-	MO/MM- / 400					TC-22	TCP --						

UNIV ROLL NO : 5252670048 CAND.NAME : KRITI REG NO : 25-HM-147			FATHER'S NAME : MAHINDER KUMAR						MOTHER'S NAME : NEELAM KUMARI						Exam Type : Fresh										
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	20	13	30	34	32	70	-	-	-	-	54	45	100	B	5.5	6	33.0				Reappear Paper Code (ENVS2AECC 02,BBA103)				
Statistics for Business Decisions (BBA103)	21	13	30	7	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0								
Entrepreneurship Development (BBA104)	19	13	30	36	32	70	-	-	-	-	55	45	100	B+	6.0	6	36.0								
Environmental Science (ENVS2AECC02)	-	-	-	16	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0								
										-	MO/MM- / 400					TC-22	TCP - -								
UNIV ROLL NO : 5252670049 CAND.NAME : MEHAK REG NO : 25-HM-170			FATHER'S NAME : SANJAY KUMAR						MOTHER'S NAME : SUNITA DEVI						Exam Type : Fresh										
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	28	13	30	40	32	70	-	-	-	-	68	45	100	A+	7.0	6	42.0	7.05	-	A++	Pass				
Statistics for Business Decisions (BBA103)	23	13	30	35	32	70	-	-	-	-	58	45	100	B+	6.0	6	36.0								
Entrepreneurship Development (BBA104)	29	13	30	44	32	70	-	-	-	-	73	45	100	A++	7.5	6	45.0								
Environmental Science (ENVS2AECC02)	-	-	-	76	45	100	-	-	-	-	76	45	100	O	8.0	4	32.0								
										-	MO/MM- 275 / 400					TC-22	TCP - 155.00								
UNIV ROLL NO : 5252670050 CAND.NAME : MINAKSHI REG NO : T25-HM-173			FATHER'S NAME : PAWAN KUMAR						MOTHER'S NAME : VANDNA KUMARI						Exam Type : Fresh										
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	27	13	30	56	32	70	-	-	-	-	83	45	100	O+	8.5	6	51.0	7.73	-	O	Pass				
Statistics for Business Decisions (BBA103)	30	13	30	47	32	70	-	-	-	-	77	45	100	O	8.0	6	48.0								
Entrepreneurship Development (BBA104)	25	13	30	47	32	70	-	-	-	-	72	45	100	A++	7.5	6	45.0								
Environmental Science (ENVS2AECC02)	-	-	-	61	45	100	-	-	-	-	61	45	100	A	6.5	4	26.0								
										-	MO/MM- 293 / 400					TC-22	TCP - 170.00								
UNIV ROLL NO : 5252670051 CAND.NAME : MUSKAN REG NO : T25-HM-6			FATHER'S NAME : SATVIR SINGH						MOTHER'S NAME : MALTI DEVI						Exam Type : Fresh										
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	29	13	30	63	32	70	-	-	-	-	92	45	100	S	9.5	6	57.0	8.27	-	O+	Pass				
Statistics for Business Decisions (BBA103)	28	13	30	38	32	70	-	-	-	-	66	45	100	A+	7.0	6	42.0								
Entrepreneurship Development (BBA104)	29	13	30	55	32	70	-	-	-	-	84	45	100	O+	8.5	6	51.0								
Environmental Science (ENVS2AECC02)	-	-	-	75	45	100	-	-	-	-	75	45	100	O	8.0	4	32.0								
										-	MO/MM- 317 / 400					TC-22	TCP - 182.00								
UNIV ROLL NO : 5252670052 CAND.NAME : MUSKAN THAKUR REG NO : 25-HM-22			FATHER'S NAME : MADAN SINGH						MOTHER'S NAME : NEENA DEVI						Exam Type : Fresh										
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	18	13	30	2	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0	-	-	-	Reappear Paper Code (BBA102,BBA 103)				
Statistics for Business Decisions (BBA103)	19	13	30	14	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0								
Entrepreneurship Development (BBA104)	17	13	30	38	32	70	-	-	-	-	55	45	100	B+	6.0	6	36.0								
Environmental Science (ENVS2AECC02)	-	-	-	52	45	100	-	-	-	-	52	45	100	B	5.5	4	22.0								
										-	MO/MM- / 400					TC-22	TCP - -								

UNIV ROLL NO : 5252670053 CAND.NAME : NIKHIL SHARMA REG NO : 25-HM-37			FATHER'S NAME : SANJAY KUMAR							MOTHER'S NAME : VEENA KUMARI							Exam Type : Fresh						
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.	
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Fundamental of Management and Organizational Behaviour (BBA102)	15	13	30	42	32	70	-	-	-	-	57	45	100	B+	6.0	6	36.0				Reappear Paper Code (BBA103)		
Statistics for Business Decisions (BBA103)	17	13	30	22	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Entrepreneurship Development (BBA104)	20	13	30	34	32	70	-	-	-	-	54	45	100	B	5.5	6	33.0						
Environmental Science (ENV2AECC02)	-	-	-	61	45	100	-	-	-	-	61	45	100	A	6.5	4	26.0						
										-	MO/MM- / 400					TC-22	TCP --						
UNIV ROLL NO : 5252670054 CAND.NAME : NIKITA PATIYAL REG NO : 25-HM-42			FATHER'S NAME : SUBHASH CHAND							MOTHER'S NAME : NEELAM DEVI							Exam Type : Fresh						
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.	
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Fundamental of Management and Organizational Behaviour (BBA102)	20	13	30	46	32	70	-	-	-	-	66	45	100	A+	7.0	6	42.0				Reappear Paper Code (BBA103)		
Statistics for Business Decisions (BBA103)	23	13	30	20	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Entrepreneurship Development (BBA104)	20	13	30	52	32	70	-	-	-	-	72	45	100	A++	7.5	6	45.0						
Environmental Science (ENV2AECC02)	-	-	-	45	45	100	-	-	-	-	45	45	100	C	5.0	4	20.0						
										-	MO/MM- / 400					TC-22	TCP --						
UNIV ROLL NO : 5252670055 CAND.NAME : NITIN PATIAL REG NO : 25-HM-20			FATHER'S NAME : MADAN LAL							MOTHER'S NAME : SUMAN KUMARI							Exam Type : Fresh						
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.	
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Fundamental of Management and Organizational Behaviour (BBA102)	16	13	30	18	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0				Reappear Paper Code (ENV2AECC 02,BBA102,BB A103,BBA104)		
Statistics for Business Decisions (BBA103)	18	13	30	8	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Entrepreneurship Development (BBA104)	17	13	30	17	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Environmental Science (ENV2AECC02)	-	-	-	15	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0						
										-	MO/MM- / 400					TC-22	TCP --						
UNIV ROLL NO : 5252670056 CAND.NAME : PALAK REG NO : 25-HM-128			FATHER'S NAME : KASHMIR SINGH							MOTHER'S NAME : ANJU BALA							Exam Type : Fresh						
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.	
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Fundamental of Management and Organizational Behaviour (BBA102)	20	13	30	28	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0				Reappear Paper Code (ENV2AECC 02,BBA102,BB A103,BBA104)		
Statistics for Business Decisions (BBA103)	21	13	30	15	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Entrepreneurship Development (BBA104)	18	13	30	21	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Environmental Science (ENV2AECC02)	-	-	-	40	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0						
										-	MO/MM- / 400					TC-22	TCP --						
UNIV ROLL NO : 5252670057 CAND.NAME : PALLVI REG NO : 25-HM-12			FATHER'S NAME : BISHWA KUMAR							MOTHER'S NAME : ANJU BALA							Exam Type : Fresh						
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.	
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Fundamental of Management and Organizational Behaviour (BBA102)	17	13	30	28	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0				Reappear Paper Code (ENV2AECC 02,BBA102,BB A103)		
Statistics for Business Decisions (BBA103)	19	13	30	10	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Entrepreneurship Development (BBA104)	17	13	30	32	32	70	-	-	-	-	49	45	100	C	5.0	6	30.0						
Environmental Science (ENV2AECC02)	-	-	-	24	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0						
										-	MO/MM- / 400					TC-22	TCP --						

UNIV ROLL NO : 5252670058 CAND.NAME : PARAS PARDESHI REG NO : 25-HM-13			FATHER'S NAME : DINESH KUMAR						MOTHER'S NAME : ASHA RANI						Exam Type : Fresh										
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	19	13	30	34	32	70	-	-	-	-	53	45	100	B	5.5	6	33.0				Reappear Paper Code (ENVS2AECC 02,BBA103,BB A104)				
Statistics for Business Decisions (BBA103)	18	13	30	12	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0								
Entrepreneurship Development (BBA104)	21	13	30	27	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0								
Environmental Science (ENVS2AECC02)	-	-	-	27	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0								
										-	MO/MM- / 400					TC-22	TCP --								
UNIV ROLL NO : 5252670059 CAND.NAME : PAYAL THAKUR REG NO : T25-HM-4			FATHER'S NAME : RIPAN KUMAR						MOTHER'S NAME : ANJANA DEVI						Exam Type : Fresh										
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	25	13	30	53	32	70	-	-	-	-	78	45	100	O	8.0	6	48.0	6.95	-	A+	Pass				
Statistics for Business Decisions (BBA103)	19	13	30	32	32	70	-	-	-	-	51	45	100	B	5.5	6	33.0								
Entrepreneurship Development (BBA104)	22	13	30	43	32	70	-	-	-	-	65	45	100	A+	7.0	6	42.0								
Environmental Science (ENVS2AECC02)	-	-	-	70	45	100	-	-	-	-	70	45	100	A++	7.5	4	30.0								
										-	MO/MM- 264 / 400					TC-22	TCP - 153.00								
UNIV ROLL NO : 5252670060 CAND.NAME : PIYA REG NO : 25-HM-46			FATHER'S NAME : SUNIL KUMAR						MOTHER'S NAME : NISHA DEVI						Exam Type : Fresh										
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	29	13	30	62	32	70	-	-	-	-	91	45	100	S	9.5	6	57.0	8.41	-	O+	Pass				
Statistics for Business Decisions (BBA103)	26	13	30	41	32	70	-	-	-	-	67	45	100	A+	7.0	6	42.0								
Entrepreneurship Development (BBA104)	29	13	30	56	32	70	-	-	-	-	85	45	100	O++	9.0	6	54.0								
Environmental Science (ENVS2AECC02)	-	-	-	76	45	100	-	-	-	-	76	45	100	O	8.0	4	32.0								
										-	MO/MM- 319 / 400					TC-22	TCP - 185.00								
UNIV ROLL NO : 5252670061 CAND.NAME : PIYUSH THAKUR REG NO : 25-HM-154			FATHER'S NAME : VIJAY KUMAR						MOTHER'S NAME : SUNITA DEVI						Exam Type : Fresh										
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	15	13	30	19	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0	-	-	-	Reappear Paper Code (ENVS2AECC 02,BBA102,BB A103)				
Statistics for Business Decisions (BBA103)	19	13	30	6	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0								
Entrepreneurship Development (BBA104)	17	13	30	41	32	70	-	-	-	-	58	45	100	B+	6.0	6	36.0								
Environmental Science (ENVS2AECC02)	-	-	-	18	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0								
										-	MO/MM- / 400					TC-22	TCP --								
UNIV ROLL NO : 5252670062 CAND.NAME : PIYUSH THAKUR REG NO : 25-HM-29			FATHER'S NAME : PRADEEP KUMAR						MOTHER'S NAME : REENA DEVI						Exam Type : Fresh										
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	17	13	30	0	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0	-	-	-	Reappear Paper Code (BBA102,BBA 103)				
Statistics for Business Decisions (BBA103)	14	13	30	14	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0								
Entrepreneurship Development (BBA104)	17	13	30	34	32	70	-	-	-	-	51	45	100	B	5.5	6	33.0								
Environmental Science (ENVS2AECC02)	-	-	-	50	45	100	-	-	-	-	50	45	100	B	5.5	4	22.0								
										-	MO/MM- / 400					TC-22	TCP --								

UNIV ROLL NO : 5252670063 CAND.NAME : PRIDHI DOGRA REG NO : T25-HM-2			FATHER'S NAME : PANKAJ DOGRA						MOTHER'S NAME : ANJU DOGRA						Exam Type : Fresh							
Paper Detail																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
Fundamental of Management and Organizational Behaviour (BBA102)	27	13	30	46	32	70	-	-	-	-	73	45	100	A++	7.5	6	45.0	6.73	-	A+	Pass	
Statistics for Business Decisions (BBA103)	29	13	30	32	32	70	-	-	-	-	61	45	100	A	6.5	6	39.0					
Entrepreneurship Development (BBA104)	23	13	30	46	32	70	-	-	-	-	69	45	100	A+	7.0	6	42.0					
Environmental Science (ENV2AECC02)	-	-	-	50	45	100	-	-	-	-	50	45	100	B	5.5	4	22.0					
										-	MO/MM- 253 / 400					TC-22	TCP - 148.00					
UNIV ROLL NO : 5252670064 CAND.NAME : PRINCE RANOUT REG NO : 25-HM-134			FATHER'S NAME : RAJEEV KUMAR						MOTHER'S NAME : POONAM DEVI						Exam Type : Fresh							
Paper Detail																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
Fundamental of Management and Organizational Behaviour (BBA102)	16	13	30	28	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0	-	-	-	Reappear Paper Code (ENV2AECC 02,BBA102,BB A103)	
Statistics for Business Decisions (BBA103)	18	13	30	9	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0					
Entrepreneurship Development (BBA104)	17	13	30	35	32	70	-	-	-	-	52	45	100	B	5.5	6	33.0					
Environmental Science (ENV2AECC02)	-	-	-	10	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0					
										-	MO/MM- / 400					TC-22	TCP - -					
UNIV ROLL NO : 5252670065 CAND.NAME : RADHIKA REG NO : 25-HM-131			FATHER'S NAME : PAWAN KUMAR						MOTHER'S NAME : PARMILA DEVI						Exam Type : Fresh							
Paper Detail																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
Fundamental of Management and Organizational Behaviour (BBA102)	26	13	30	49	32	70	-	-	-	-	75	45	100	O	8.0	6	48.0	6.50	-	A+	Pass	
Statistics for Business Decisions (BBA103)	25	13	30	32	32	70	-	-	-	-	57	45	100	B+	6.0	6	36.0					
Entrepreneurship Development (BBA104)	23	13	30	38	32	70	-	-	-	-	61	45	100	A	6.5	6	39.0					
Environmental Science (ENV2AECC02)	-	-	-	45	45	100	-	-	-	-	45	45	100	C	5.0	4	20.0					
										-	MO/MM- 238 / 400					TC-22	TCP - 143.00					
UNIV ROLL NO : 5252670066 CAND.NAME : RAFEEQ MOHAMMAD REG NO : 25-HM-150			FATHER'S NAME : SADIK MOHAMMAD						MOTHER'S NAME : SEEMA BEGAM						Exam Type : Fresh							
Paper Detail																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
Fundamental of Management and Organizational Behaviour (BBA102)	14	13	30	2	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0	-	-	-	Reappear Paper Code (ENV2AECC 02,BBA102,BB A103)	
Statistics for Business Decisions (BBA103)	16	13	30	4	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0					
Entrepreneurship Development (BBA104)	15	13	30	36	32	70	-	-	-	-	51	45	100	B	5.5	6	33.0					
Environmental Science (ENV2AECC02)	-	-	-	13	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0					
										-	MO/MM- / 400					TC-22	TCP - -					
UNIV ROLL NO : 5252670067 CAND.NAME : RAHUL REG NO : 25-HM-49			FATHER'S NAME : SWAROOP CHAND						MOTHER'S NAME : SUMAN KUMARI						Exam Type : Fresh							
Paper Detail																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
Fundamental of Management and Organizational Behaviour (BBA102)	24	13	30	32	32	70	-	-	-	-	56	45	100	B+	6.0	6	36.0	-	-	-	Reappear Paper Code (ENV2AECC 02,BBA103,BB A104)	
Statistics for Business Decisions (BBA103)	18	13	30	16	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0					
Entrepreneurship Development (BBA104)	18	13	30	15	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0					
Environmental Science (ENV2AECC02)	-	-	-	28	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0					
										-	MO/MM- / 400					TC-22	TCP - -					

UNIV ROLL NO : 5252670068 CAND.NAME : RISHITA THAKUR REG NO : 25-HM-27	FATHER'S NAME : PAWAN KUMAR									MOTHER'S NAME : SANGEETA DEVI					Exam Type : Fresh								
	Paper Detail																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.	
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Fundamental of Management and Organizational Behaviour (BBA102)	19	13	30	45	32	70	-	-	-	-	64	45	100	A	6.5	6	39.0				Reappear Paper Code (ENVS2AECC 02,BBA103)		
Statistics for Business Decisions (BBA103)	16	13	30	14	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Entrepreneurship Development (BBA104)	18	13	30	36	32	70	-	-	-	-	54	45	100	B	5.5	6	33.0						
Environmental Science (ENVS2AECC02)	-	-	-	31	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0						
										-	MO/MM- / 400					TC-22	TCP --						
UNIV ROLL NO : 5252670069 CAND.NAME : ROHIT REG NO : 25-HM-125	FATHER'S NAME : ASHWANI KUMAR									MOTHER'S NAME : ANJU KUMARI					Exam Type : Fresh								
	Paper Detail																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.	
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Fundamental of Management and Organizational Behaviour (BBA102)	15	13	30	8	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0				Reappear Paper Code (BBA102,BBA 103)		
Statistics for Business Decisions (BBA103)	14	13	30	6	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Entrepreneurship Development (BBA104)	16	13	30	38	32	70	-	-	-	-	54	45	100	B	5.5	6	33.0						
Environmental Science (ENVS2AECC02)	-	-	-	50	45	100	-	-	-	-	50	45	100	B	5.5	4	22.0						
										-	MO/MM- / 400					TC-22	TCP --						
UNIV ROLL NO : 5252670070 CAND.NAME : ROHIT KUMAR REG NO : 25-HM-167	FATHER'S NAME : ASHWANI KUMAR									MOTHER'S NAME : KIRAN KUMARI					Exam Type : Fresh								
	Paper Detail																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.	
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Fundamental of Management and Organizational Behaviour (BBA102)	19	13	30	28	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0				Reappear Paper Code (BBA102,BBA 103)		
Statistics for Business Decisions (BBA103)	15	13	30	6	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Entrepreneurship Development (BBA104)	16	13	30	48	32	70	-	-	-	-	64	45	100	A	6.5	6	39.0						
Environmental Science (ENVS2AECC02)	-	-	-	57	45	100	-	-	-	-	57	45	100	B+	6.0	4	24.0						
										-	MO/MM- / 400					TC-22	TCP --						
UNIV ROLL NO : 5252670071 CAND.NAME : ROHIT SHARMA REG NO : 25-HM-45	FATHER'S NAME : SUNIL KUMAR									MOTHER'S NAME : NIRASHA DEVI					Exam Type : Fresh								
	Paper Detail																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.	
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Fundamental of Management and Organizational Behaviour (BBA102)	16	13	30	36	32	70	-	-	-	-	52	45	100	B	5.5	6	33.0				Reappear Paper Code (BBA103)		
Statistics for Business Decisions (BBA103)	17	13	30	20	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Entrepreneurship Development (BBA104)	20	13	30	40	32	70	-	-	-	-	60	45	100	A	6.5	6	39.0						
Environmental Science (ENVS2AECC02)	-	-	-	48	45	100	-	-	-	-	48	45	100	C	5.0	4	20.0						
										-	MO/MM- / 400					TC-22	TCP --						
UNIV ROLL NO : 5252670072 CAND.NAME : SAHIL REG NO : 25-HM-41	FATHER'S NAME : SUBHASH CHAND									MOTHER'S NAME : NISHA KUMARI					Exam Type : Fresh								
	Paper Detail																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.	
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Fundamental of Management and Organizational Behaviour (BBA102)	20	13	30	43	32	70	-	-	-	-	63	45	100	A	6.5	6	39.0				Reappear Paper Code (ENVS2AECC 02,BBA103,BB A104)		
Statistics for Business Decisions (BBA103)	19	13	30	15	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Entrepreneurship Development (BBA104)	18	13	30	25	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Environmental Science (ENVS2AECC02)	-	-	-	23	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0						
										-	MO/MM- / 400					TC-22	TCP --						

UNIV ROLL NO : 5252670073 CAND.NAME : SAHIL NAREN REG NO : T25-HM-171			FATHER'S NAME : NARENDER KUMAR						MOTHER'S NAME : ANITA						Exam Type : Fresh										
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	24	13	30	33	32	70	-	-	-	-	57	45	100	B+	6.0	6	36.0				Reappear Paper Code (BBA104)				
Statistics for Business Decisions (BBA103)	27	13	30	47	32	70	-	-	-	-	74	45	100	A++	7.5	6	45.0								
Entrepreneurship Development (BBA104)	22	13	30	25	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0								
Environmental Science (ENV2AECC02)	-	-	-	45	45	100	-	-	-	-	45	45	100	C	5.0	4	20.0								
										-	MO/MM- / 400					TC-22	TCP --								
UNIV ROLL NO : 5252670074 CAND.NAME : SAHIL SHARMA REG NO : 25-HM-140			FATHER'S NAME : SANJEEV KUMAR						MOTHER'S NAME : ANITA DEVI						Exam Type : Fresh										
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	16	13	30	16	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0				Reappear Paper Code (ENV2AECC 02,BBA102,BB A103,BBA104)				
Statistics for Business Decisions (BBA103)	14	13	30	12	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0								
Entrepreneurship Development (BBA104)	19	13	30	20	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0								
Environmental Science (ENV2AECC02)	-	-	-	13	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0								
										-	MO/MM- / 400					TC-22	TCP --								
UNIV ROLL NO : 5252670075 CAND.NAME : SAMIKSHA REG NO : 25-HM-39			FATHER'S NAME : SATISH KUMAR						MOTHER'S NAME : REENA						Exam Type : Fresh										
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	25	13	30	57	32	70	-	-	-	-	82	45	100	O+	8.5	6	51.0	7.32	-	A++	Pass				
Statistics for Business Decisions (BBA103)	28	13	30	32	32	70	-	-	-	-	60	45	100	A	6.5	6	39.0								
Entrepreneurship Development (BBA104)	25	13	30	46	32	70	-	-	-	-	71	45	100	A++	7.5	6	45.0								
Environmental Science (ENV2AECC02)	-	-	-	61	45	100	-	-	-	-	61	45	100	A	6.5	4	26.0								
										-	MO/MM- 274 / 400					TC-22	TCP - 161.00								
UNIV ROLL NO : 5252670076 CAND.NAME : SAMIKSHA KUMARI REG NO : 25-HM-112			FATHER'S NAME : SUMAN KUMAR						MOTHER'S NAME : SEEMA DEVI						Exam Type : Fresh										
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	23	13	30	40	32	70	-	-	-	-	63	45	100	A	6.5	6	39.0	-	-	-	Reappear Paper Code (BBA103)				
Statistics for Business Decisions (BBA103)	23	13	30	26	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0								
Entrepreneurship Development (BBA104)	21	13	30	35	32	70	-	-	-	-	56	45	100	B+	6.0	6	36.0								
Environmental Science (ENV2AECC02)	-	-	-	50	45	100	-	-	-	-	50	45	100	B	5.5	4	22.0								
										-	MO/MM- / 400					TC-22	TCP --								
UNIV ROLL NO : 5252670077 CAND.NAME : SANJANA KUMARI REG NO : 25-HM-11			FATHER'S NAME : BALVINDER SINGH						MOTHER'S NAME : JYOTI BALA						Exam Type : Fresh										
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	26	13	30	54	32	70	-	-	-	-	80	45	100	O+	8.5	6	51.0	7.23	-	A++	Pass				
Statistics for Business Decisions (BBA103)	20	13	30	44	32	70	-	-	-	-	64	45	100	A	6.5	6	39.0								
Entrepreneurship Development (BBA104)	23	13	30	51	32	70	-	-	-	-	74	45	100	A++	7.5	6	45.0								
Environmental Science (ENV2AECC02)	-	-	-	55	45	100	-	-	-	-	55	45	100	B+	6.0	4	24.0								
										-	MO/MM- 273 / 400					TC-22	TCP - 159.00								

UNIV ROLL NO : 5252670078 CAND.NAME : SARANYA SHARMA REG NO : 25-HM-129			FATHER'S NAME : KEWAL KRISHAN										MOTHER'S NAME : POONAM SHARMA										Exam Type : Fresh			
Paper Detail																										
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M													
Fundamental of Management and Organizational Behaviour (BBA102)	24	13	30	47	32	70	-	-	-	-	71	45	100	A++	7.5	6	45.0									
Statistics for Business Decisions (BBA103)	18	13	30	18	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0									
Entrepreneurship Development (BBA104)	24	13	30	-	32	70	-	-	-	-	-	45	100	**	0.0	6	0.0									
Environmental Science (ENV52AECC02)	-	-	-	69	45	100	-	-	-	-	69	45	100	A+	7.0	4	28.0									
										-	MO/MM- / 400					TC-22	TCP --									
UNIV ROLL NO : 5252670079 CAND.NAME : SAURBH DOGRA REG NO : 25-HM-23			FATHER'S NAME : NARESH KUMAR										MOTHER'S NAME : LATA DEVI										Exam Type : Fresh			
Paper Detail																										
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M													
Fundamental of Management and Organizational Behaviour (BBA102)	15	13	30	51	32	70	-	-	-	-	66	45	100	A+	7.0	6	42.0									
Statistics for Business Decisions (BBA103)	18	13	30	8	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0									
Entrepreneurship Development (BBA104)	16	13	30	13	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0									
Environmental Science (ENV52AECC02)	-	-	-	20	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0									
										-	MO/MM- / 400					TC-22	TCP --									
UNIV ROLL NO : 5252670080 CAND.NAME : SHEETAL THAKUR REG NO : 25-HM-18			FATHER'S NAME : KASHMIR SINGH										MOTHER'S NAME : MEENA DEVI										Exam Type : Fresh			
Paper Detail																										
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M													
Fundamental of Management and Organizational Behaviour (BBA102)	27	13	30	50	32	70	-	-	-	-	77	45	100	O	8.0	6	48.0									
Statistics for Business Decisions (BBA103)	27	13	30	50	32	70	-	-	-	-	77	45	100	O	8.0	6	48.0									
Entrepreneurship Development (BBA104)	22	13	30	47	32	70	-	-	-	-	69	45	100	A+	7.0	6	42.0									
Environmental Science (ENV52AECC02)	-	-	-	50	45	100	-	-	-	-	50	45	100	B	5.5	4	22.0									
										-	MO/MM- 273 / 400					TC-22	TCP - 160.00									
UNIV ROLL NO : 5252670081 CAND.NAME : SHELZA KUMARI REG NO : 25-HM-43			FATHER'S NAME : SUBHASH CHAND										MOTHER'S NAME : NEELAM DEVI										Exam Type : Fresh			
Paper Detail																										
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M													
Fundamental of Management and Organizational Behaviour (BBA102)	24	13	30	50	32	70	-	-	-	-	74	45	100	A++	7.5	6	45.0									
Statistics for Business Decisions (BBA103)	20	13	30	25	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0									
Entrepreneurship Development (BBA104)	20	13	30	54	32	70	-	-	-	-	74	45	100	A++	7.5	6	45.0									
Environmental Science (ENV52AECC02)	-	-	-	65	45	100	-	-	-	-	65	45	100	A+	7.0	4	28.0									
										-	MO/MM- / 400					TC-22	TCP --									
UNIV ROLL NO : 5252670082 CAND.NAME : SHIVA THAKUR REG NO : 25-HM-51			FATHER'S NAME : UTTAM SINGH										MOTHER'S NAME : KARUNA KUMARI										Exam Type : Fresh			
Paper Detail																										
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M													
Fundamental of Management and Organizational Behaviour (BBA102)	16	13	30	49	32	70	-	-	-	-	65	45	100	A+	7.0	6	42.0									
Statistics for Business Decisions (BBA103)	14	13	30	12	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0									
Entrepreneurship Development (BBA104)	17	13	30	49	32	70	-	-	-	-	66	45	100	A+	7.0	6	42.0									
Environmental Science (ENV52AECC02)	-	-	-	53	45	100	-	-	-	-	53	45	100	B	5.5	4	22.0									
										-	MO/MM- / 400					TC-22	TCP --									

UNIV ROLL NO : 5252670083 CAND.NAME : SHIVAM REG NO : 25-HM-109			FATHER'S NAME : PYAR CHAND							MOTHER'S NAME : SANTOSH KUMARI							Exam Type : Fresh									
Paper Detail																										
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M													
Fundamental of Management and Organizational Behaviour (BBA102)	20	13	30	38	32	70	-	-	-	-	58	45	100	B+	6.0	6	36.0				Reappear Paper Code (BBA103)					
Statistics for Business Decisions (BBA103)	22	13	30	14	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0									
Entrepreneurship Development (BBA104)	20	13	30	38	32	70	-	-	-	-	58	45	100	B+	6.0	6	36.0									
Environmental Science (ENV2AECC02)	-	-	-	45	45	100	-	-	-	-	45	45	100	C	5.0	4	20.0									
										-	MO/MM- / 400					TC-22	TCP - -									
UNIV ROLL NO : 5252670084 CAND.NAME : SHIVAM THAKUR REG NO : 25-HM-152			FATHER'S NAME : SANJEEV SINGH							MOTHER'S NAME : REENA DEVI							Exam Type : Fresh									
Paper Detail																										
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M													
Fundamental of Management and Organizational Behaviour (BBA102)	15	13	30	12	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0				Reappear Paper Code (ENV2AECC 02,BBA102,BB A103,BBA104)					
Statistics for Business Decisions (BBA103)	14	13	30	9	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0									
Entrepreneurship Development (BBA104)	16	13	30	21	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0									
Environmental Science (ENV2AECC02)	-	-	-	3	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0									
										-	MO/MM- / 400					TC-22	TCP - -									
UNIV ROLL NO : 5252670085 CAND.NAME : SHIVANSH DOGRA REG NO : 25-HM-32			FATHER'S NAME : RAJESH KUMAR							MOTHER'S NAME : MONIKA DEVI							Exam Type : Fresh									
Paper Detail																										
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M													
Fundamental of Management and Organizational Behaviour (BBA102)	22	13	30	55	32	70	-	-	-	-	77	45	100	O	8.0	6	48.0	6.91	-	A+	Pass					
Statistics for Business Decisions (BBA103)	18	13	30	32	32	70	-	-	-	-	50	45	100	B	5.5	6	33.0									
Entrepreneurship Development (BBA104)	22	13	30	52	32	70	-	-	-	-	74	45	100	A++	7.5	6	45.0									
Environmental Science (ENV2AECC02)	-	-	-	64	45	100	-	-	-	-	64	45	100	A	6.5	4	26.0									
										-	MO/MM- 265 / 400					TC-22	TCP - 152.00									
UNIV ROLL NO : 5252670086 CAND.NAME : SHRUTI REG NO : 25-HM-24			FATHER'S NAME : NEK CHAND							MOTHER'S NAME : SUSHMA DEVI							Exam Type : Fresh									
Paper Detail																										
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M													
Fundamental of Management and Organizational Behaviour (BBA102)	25	13	30	57	32	70	-	-	-	-	82	45	100	O+	8.5	6	51.0	7.00	-	A++	Pass					
Statistics for Business Decisions (BBA103)	22	13	30	41	32	70	-	-	-	-	63	45	100	A	6.5	6	39.0									
Entrepreneurship Development (BBA104)	22	13	30	44	32	70	-	-	-	-	66	45	100	A+	7.0	6	42.0									
Environmental Science (ENV2AECC02)	-	-	-	51	45	100	-	-	-	-	51	45	100	B	5.5	4	22.0									
										-	MO/MM- 262 / 400					TC-22	TCP - 154.00									
UNIV ROLL NO : 5252670087 CAND.NAME : SHUBH KANUNGO REG NO : T25-HM-270			FATHER'S NAME : VINOD KUMAR							MOTHER'S NAME : MONIKA KUMARI							Exam Type : Fresh									
Paper Detail																										
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M													
Fundamental of Management and Organizational Behaviour (BBA102)	15	13	30	36	32	70	-	-	-	-	51	45	100	B	5.5	6	33.0	5.73	-	B+	Pass					
Statistics for Business Decisions (BBA103)	22	13	30	33	32	70	-	-	-	-	55	45	100	B+	6.0	6	36.0									
Entrepreneurship Development (BBA104)	17	13	30	37	32	70	-	-	-	-	54	45	100	B	5.5	6	33.0									
Environmental Science (ENV2AECC02)	-	-	-	55	45	100	-	-	-	-	55	45	100	B+	6.0	4	24.0									
										-	MO/MM- 215 / 400					TC-22	TCP - 126.00									

UNIV ROLL NO : 5252670088 CAND.NAME : SHUBHAM SHARMA REG NO : 25-HM-133			FATHER'S NAME : RAJ KUMAR									MOTHER'S NAME : SUNEHRI DEVI				Exam Type : Fresh							
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.	
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Fundamental of Management and Organizational Behaviour (BBA102)	15	13	30	36	32	70	-	-	-	-	51	45	100	B	5.5	6	33.0				Reappear Paper Code (ENVS2AECC 02,BBA103,BB A104)		
Statistics for Business Decisions (BBA103)	14	13	30	21	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Entrepreneurship Development (BBA104)	16	13	30	23	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Environmental Science (ENVS2AECC02)	-	-	-	40	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0						
										-	MO/MM- / 400					TC-22	TCP --						
UNIV ROLL NO : 5252670089 CAND.NAME : SIMRAN KUMARI REG NO : 25-HM-155			FATHER'S NAME : VIPAN KUMAR									MOTHER'S NAME : NISHA DEVI				Exam Type : Fresh							
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.	
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Fundamental of Management and Organizational Behaviour (BBA102)	20	13	30	30	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0				Reappear Paper Code (ENVS2AECC 02,BBA102,BB A103)		
Statistics for Business Decisions (BBA103)	22	13	30	14	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Entrepreneurship Development (BBA104)	17	13	30	47	32	70	-	-	-	-	64	45	100	A	6.5	6	39.0						
Environmental Science (ENVS2AECC02)	-	-	-	40	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0						
										-	MO/MM- / 400					TC-22	TCP --						
UNIV ROLL NO : 5252670090 CAND.NAME : SREEJAN KUMAR SHARMA REG NO : 25-HM-207			FATHER'S NAME : RAJESH KUMAR									MOTHER'S NAME : ATI DEVI				Exam Type : Fresh							
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.	
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Fundamental of Management and Organizational Behaviour (BBA102)	16	13	30	3	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0				Reappear Paper Code (ENVS2AECC 02,BBA102,BB A103,BBA104)		
Statistics for Business Decisions (BBA103)	14	13	30	6	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Entrepreneurship Development (BBA104)	17	13	30	13	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Environmental Science (ENVS2AECC02)	-	-	-	18	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0						
										-	MO/MM- / 400					TC-22	TCP --						
UNIV ROLL NO : 5252670091 CAND.NAME : SUBRAT SHORYA REG NO : 25-HM-107			FATHER'S NAME : PRADEEP SINGH THAKUR									MOTHER'S NAME : KUSHMA DEVI				Exam Type : Fresh							
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.	
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Fundamental of Management and Organizational Behaviour (BBA102)	24	13	30	40	32	70	-	-	-	-	64	45	100	A	6.5	6	39.0				Reappear Paper Code (ENVS2AECC 02,BBA103)		
Statistics for Business Decisions (BBA103)	24	13	30	23	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Entrepreneurship Development (BBA104)	25	13	30	38	32	70	-	-	-	-	63	45	100	A	6.5	6	39.0						
Environmental Science (ENVS2AECC02)	-	-	-	40	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0						
										-	MO/MM- / 400					TC-22	TCP --						
UNIV ROLL NO : 5252670092 CAND.NAME : SUJAL KAPIL REG NO : 25-HM-44			FATHER'S NAME : SUMIT KAPIL									MOTHER'S NAME : SUNITA DEVI				Exam Type : Fresh							
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.	
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Fundamental of Management and Organizational Behaviour (BBA102)	24	13	30	43	32	70	-	-	-	-	67	45	100	A+	7.0	6	42.0				Reappear Paper Code (BBA103)		
Statistics for Business Decisions (BBA103)	18	13	30	21	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Entrepreneurship Development (BBA104)	21	13	30	32	32	70	-	-	-	-	53	45	100	B	5.5	6	33.0						
Environmental Science (ENVS2AECC02)	-	-	-	66	45	100	-	-	-	-	66	45	100	A+	7.0	4	28.0						
										-	MO/MM- / 400					TC-22	TCP --						

UNIV ROLL NO : 5252670093 CAND.NAME : SUNNY REG NO : 25-HM-30			FATHER'S NAME : PUNI CHAND							MOTHER'S NAME : RANI DEVI							Exam Type : Fresh					
Paper Detail																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
Fundamental of Management and Organizational Behaviour (BBA102)	22	13	30	54	32	70	-	-	-	-	76	45	100	O	8.0	6	48.0	6.68	-	A+	Pass	
Statistics for Business Decisions (BBA103)	23	13	30	32	32	70	-	-	-	-	55	45	100	B+	6.0	6	36.0					
Entrepreneurship Development (BBA104)	19	13	30	44	32	70	-	-	-	-	63	45	100	A	6.5	6	39.0					
Environmental Science (ENV2AECC02)	-	-	-	58	45	100	-	-	-	-	58	45	100	B+	6.0	4	24.0					
										-	MO/MM- 252 / 400					TC-22	TCP - 147.00					
UNIV ROLL NO : 5252670094 CAND.NAME : SURYANSH REG NO : T25-HM-172			FATHER'S NAME : PAMMI KUMAR							MOTHER'S NAME : JAYOTI							Exam Type : Fresh					
Paper Detail																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
Fundamental of Management and Organizational Behaviour (BBA102)	23	13	30	33	32	70	-	-	-	-	56	45	100	B+	6.0	6	36.0	5.82	-	B+	Pass	
Statistics for Business Decisions (BBA103)	28	13	30	35	32	70	-	-	-	-	63	45	100	A	6.5	6	39.0					
Entrepreneurship Development (BBA104)	18	13	30	32	32	70	-	-	-	-	50	45	100	B	5.5	6	33.0					
Environmental Science (ENV2AECC02)	-	-	-	45	45	100	-	-	-	-	45	45	100	C	5.0	4	20.0					
										-	MO/MM- 214 / 400					TC-22	TCP - 128.00					
UNIV ROLL NO : 5252670095 CAND.NAME : SURYANSH SHARMA REG NO : T25-HM-5			FATHER'S NAME : SANJEEV KUMAR SHARMA							MOTHER'S NAME : ANJU KUMARI SHARMA							Exam Type : Fresh					
Paper Detail																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
Fundamental of Management and Organizational Behaviour (BBA102)	17	13	30	34	32	70	-	-	-	-	51	45	100	B	5.5	6	33.0	-	-	-	Reappear Paper Code (ENV2AECC 02,BBA103,BB A104)	
Statistics for Business Decisions (BBA103)	16	13	30	25	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0					
Entrepreneurship Development (BBA104)	17	13	30	25	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0					
Environmental Science (ENV2AECC02)	-	-	-	40	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0					
										-	MO/MM- / 400					TC-22	TCP - -					
UNIV ROLL NO : 5252670096 CAND.NAME : SURYANSH THAKUR REG NO : 25-HM-138			FATHER'S NAME : SANJAY KUMAR							MOTHER'S NAME : RAJNI DEVI							Exam Type : Fresh					
Paper Detail																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
Fundamental of Management and Organizational Behaviour (BBA102)	16	13	30	21	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0	-	-	-	Reappear Paper Code (ENV2AECC 02,BBA102,BB A103,BBA104)	
Statistics for Business Decisions (BBA103)	14	13	30	8	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0					
Entrepreneurship Development (BBA104)	16	13	30	9	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0					
Environmental Science (ENV2AECC02)	-	-	-	17	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0					
										-	MO/MM- / 400					TC-22	TCP - -					
UNIV ROLL NO : 5252670097 CAND.NAME : SWATI REG NO : T25-HM-212			FATHER'S NAME : RIMPAL KUMAR							MOTHER'S NAME : SEEMA DEVI							Exam Type : Fresh					
Paper Detail																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
Fundamental of Management and Organizational Behaviour (BBA102)	20	13	30	23	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0	-	-	-	Reappear Paper Code (ENV2AECC 02,BBA102,BB A103)	
Statistics for Business Decisions (BBA103)	19	13	30	19	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0					
Entrepreneurship Development (BBA104)	19	13	30	33	32	70	-	-	-	-	52	45	100	B	5.5	6	33.0					
Environmental Science (ENV2AECC02)	-	-	-	15	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0					
										-	MO/MM- / 400					TC-22	TCP - -					

UNIV ROLL NO : 5252670098 CAND.NAME : SWATI SHARMA REG NO : 25-HM-38			FATHER'S NAME : SANJEEV KUMAR						MOTHER'S NAME : SUNITA KUMARI						Exam Type : Fresh										
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	18	13	30	13	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0				Reappear Paper Code (ENVS2AECC 02,BBA102,BB A103)				
Statistics for Business Decisions (BBA103)	16	13	30	16	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0								
Entrepreneurship Development (BBA104)	19	13	30	38	32	70	-	-	-	-	57	45	100	B+	6.0	6	36.0								
Environmental Science (ENVS2AECC02)	-	-	-	16	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0								
										-	MO/MM- / 400					TC-22	TCP - -								
UNIV ROLL NO : 5252670099 CAND.NAME : TABISHA RANA REG NO : 25-HM-132			FATHER'S NAME : RAJ KUMAR						MOTHER'S NAME : BABLI DEVI						Exam Type : Fresh										
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	19	13	30	42	32	70	-	-	-	-	61	45	100	A	6.5	6	39.0				Reappear Paper Code (BBA103,BBA 104)				
Statistics for Business Decisions (BBA103)	19	13	30	23	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0								
Entrepreneurship Development (BBA104)	19	13	30	28	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0								
Environmental Science (ENVS2AECC02)	-	-	-	57	45	100	-	-	-	-	57	45	100	B+	6.0	4	24.0								
										-	MO/MM- / 400					TC-22	TCP - -								
UNIV ROLL NO : 5252670100 CAND.NAME : TANIA SHARMA REG NO : 25-HM-25			FATHER'S NAME : PARDEEP KUMAR						MOTHER'S NAME : REKHA KUMARI						Exam Type : Fresh										
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	20	13	30	32*	32	70	-	-	-	1	52	45	100	B	5.5	6	33.0	6.27	-	A	Pass				
Statistics for Business Decisions (BBA103)	21	13	30	32	32	70	-	-	-	-	53	45	100	B	5.5	6	33.0								
Entrepreneurship Development (BBA104)	22	13	30	45	32	70	-	-	-	-	67	45	100	A+	7.0	6	42.0								
Environmental Science (ENVS2AECC02)	-	-	-	71	45	100	-	-	-	-	71	45	100	A++	7.5	4	30.0								
										1	MO/MM- 243 / 400					TC-22	TCP - 138.00								
UNIV ROLL NO : 5252670101 CAND.NAME : TEJ PRAKASH REG NO : 25-HM-34			FATHER'S NAME : RAM SWAROOP						MOTHER'S NAME : VEENA DEVI						Exam Type : Fresh										
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	23	13	30	40	32	70	-	-	-	-	63	45	100	A	6.5	6	39.0	5.82	-	B+	Pass				
Statistics for Business Decisions (BBA103)	18	13	30	32	32	70	-	-	-	-	50	45	100	B	5.5	6	33.0								
Entrepreneurship Development (BBA104)	24	13	30	32*	32	70	-	-	-	1	56	45	100	B+	6.0	6	36.0								
Environmental Science (ENVS2AECC02)	-	-	-	47	45	100	-	-	-	-	47	45	100	C	5.0	4	20.0								
										1	MO/MM- 216 / 400					TC-22	TCP - 128.00								
UNIV ROLL NO : 5252670102 CAND.NAME : THAKUR RUDRA REG NO : 25-HM-144			FATHER'S NAME : ANOOP THAKUR						MOTHER'S NAME : SUJATA						Exam Type : Fresh										
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	18	13	30	33	32	70	-	-	-	-	51	45	100	B	5.5	6	33.0	-	-	-	Reappear Paper Code (BBA103)				
Statistics for Business Decisions (BBA103)	23	13	30	9	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0								
Entrepreneurship Development (BBA104)	16	13	30	36	32	70	-	-	-	-	52	45	100	B	5.5	6	33.0								
Environmental Science (ENVS2AECC02)	-	-	-	55	45	100	-	-	-	-	55	45	100	B+	6.0	4	24.0								
										-	MO/MM- / 400					TC-22	TCP - -								

UNIV ROLL NO : 5252670103 CAND.NAME : UTKARSH REG NO : 25-HM-33			FATHER'S NAME : RAKESH KUMAR						MOTHER'S NAME : RENU BALIHAR						Exam Type : Fresh								
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.	
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Fundamental of Management and Organizational Behaviour (BBA102)	18	13	30	38	32	70	-	-	-	-	56	45	100	B+	6.0	6	36.0				Reappear Paper Code (BBA103)		
Statistics for Business Decisions (BBA103)	25	13	30	21	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Entrepreneurship Development (BBA104)	22	13	30	41	32	70	-	-	-	-	63	45	100	A	6.5	6	39.0						
Environmental Science (ENV2AECC02)	-	-	-	65	45	100	-	-	-	-	65	45	100	A+	7.0	4	28.0						
										-	MO/MM- / 400					TC-22	TCP --						
UNIV ROLL NO : 5252670104 CAND.NAME : VAISHALI RAJPUT REG NO : 25-HM-149			FATHER'S NAME : RAJESH KUMAR						MOTHER'S NAME : NEELAM KUMAR						Exam Type : Fresh								
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.	
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Fundamental of Management and Organizational Behaviour (BBA102)	19	13	30	35	32	70	-	-	-	-	54	45	100	B	5.5	6	33.0				Reappear Paper Code (BBA103)		
Statistics for Business Decisions (BBA103)	16	13	30	15	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Entrepreneurship Development (BBA104)	21	13	30	38	32	70	-	-	-	-	59	45	100	B+	6.0	6	36.0						
Environmental Science (ENV2AECC02)	-	-	-	66	45	100	-	-	-	-	66	45	100	A+	7.0	4	28.0						
										-	MO/MM- / 400					TC-22	TCP --						
UNIV ROLL NO : 5252670105 CAND.NAME : VAISHNAVI SHARMA REG NO : 25-HM-14			FATHER'S NAME : DINESH KUMAR						MOTHER'S NAME : KIRAN KUMARI						Exam Type : Fresh								
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.	
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Fundamental of Management and Organizational Behaviour (BBA102)	18	13	30	28	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0				Reappear Paper Code (ENVS2AECC 02,BBA102,BB A103,BBA104)		
Statistics for Business Decisions (BBA103)	17	13	30	12	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Entrepreneurship Development (BBA104)	20	13	30	26	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Environmental Science (ENV2AECC02)	-	-	-	40	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0						
										-	MO/MM- / 400					TC-22	TCP --						
UNIV ROLL NO : 5252670106 CAND.NAME : VANSHIKA RANA REG NO : 25-HM-153			FATHER'S NAME : SATISH KUMAR						MOTHER'S NAME : VANDANA						Exam Type : Fresh								
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.	
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Fundamental of Management and Organizational Behaviour (BBA102)	17	13	30	33	32	70	-	-	-	-	50	45	100	B	5.5	6	33.0				Reappear Paper Code (ENVS2AECC 02,BBA103)		
Statistics for Business Decisions (BBA103)	20	13	30	12	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Entrepreneurship Development (BBA104)	17	13	30	42	32	70	-	-	-	-	59	45	100	B+	6.0	6	36.0						
Environmental Science (ENV2AECC02)	-	-	-	11	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0						
										-	MO/MM- / 400					TC-22	TCP --						
UNIV ROLL NO : 5252670107 CAND.NAME : VIRENDER KAUSHAL REG NO : 25-HM-40			FATHER'S NAME : SEWAK RAM						MOTHER'S NAME : PINKY						Exam Type : Fresh								
Paper Detail																							
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.	
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Fundamental of Management and Organizational Behaviour (BBA102)	15	13	30	36	32	70	-	-	-	-	51	45	100	B	5.5	6	33.0				Reappear Paper Code (ENVS2AECC 02,BBA103)		
Statistics for Business Decisions (BBA103)	23	13	30	15	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0						
Entrepreneurship Development (BBA104)	18	13	30	39	32	70	-	-	-	-	57	45	100	B+	6.0	6	36.0						
Environmental Science (ENV2AECC02)	-	-	-	27	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0						
										-	MO/MM- / 400					TC-22	TCP --						

UNIV ROLL NO : 5252670108 CAND.NAME : VIVEK THAKUR REG NO : 25-HM-151			FATHER'S NAME : SANJAY KUMAR							MOTHER'S NAME : REKHA DEVI							Exam Type : Fresh								
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	16	13	30	30	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0				Reappear Paper Code (ENVS2AECC 02,BBA102,BB A103)				
Statistics for Business Decisions (BBA103)	16	13	30	14	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0								
Entrepreneurship Development (BBA104)	17	13	30	37	32	70	-	-	-	-	54	45	100	B	5.5	6	33.0								
Environmental Science (ENVS2AECC02)	-	-	-	40	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0								
										-	MO/MM- / 400					TC-22	TCP --								
UNIV ROLL NO : 5232670006 CAND.NAME : ADITYA REG NO : 23-HM-87			FATHER'S NAME : KISHORI LAL							MOTHER'S NAME : MAMTA DEVI							Exam Type : Re-Appear								
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	25	13	30	16^	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0				Reappear Paper Code (BBA102)				
Statistics for Business Decisions (BBA103)	24	13	30	48	32	70	-	-	-	-	72	45	100	A++	7.5	6	45.0								
Entrepreneurship Development (BBA104)	24	13	30	50^	32	70	-	-	-	-	74	45	100	A++	7.5	6	45.0								
Environmental Science (ENVS2AECC02)	-	-	-	63	45	100	-	-	-	-	63	45	100	A	6.5	4	26.0								
										-	MO/MM- / 400					TC-22	TCP --								
UNIV ROLL NO : 5232670020 CAND.NAME : ARYAN REG NO : 23-HM-93			FATHER'S NAME : PAWAN KUMAR							MOTHER'S NAME : POONAM KUMARI							Exam Type : Re-Appear								
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	20	13	30	32	32	70	-	-	-	-	52	45	100	B	5.5	6	33.0	6.18	-	A	Pass				
Statistics for Business Decisions (BBA103)	24	13	30	42	32	70	-	-	-	-	66	45	100	A+	7.0	6	42.0								
Entrepreneurship Development (BBA104)	19	13	30	34^	32	70	-	-	-	-	53	45	100	B	5.5	6	33.0								
Environmental Science (ENVS2AECC02)	-	-	-	66	45	100	-	-	-	-	66	45	100	A+	7.0	4	28.0								
										-	MO/MM- 237 / 400					TC-22	TCP - 136.00								
UNIV ROLL NO : 5232670026 CAND.NAME : DEEPAK REG NO : 23-HM-127			FATHER'S NAME : HUKAM CHAND							MOTHER'S NAME : ANJU KUMARI							Exam Type : Re-Appear								
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	14	13	30	36	32	70	-	-	-	-	50	45	100	B	5.5	6	33.0	-	-	-	Reappear Paper Code (BBA103)				
Statistics for Business Decisions (BBA103)	23	13	30	9^	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0								
Entrepreneurship Development (BBA104)	19	13	30	40	32	70	-	-	-	-	59	45	100	B+	6.0	6	36.0								
Environmental Science (ENVS2AECC02)	-	-	-	65	45	100	-	-	-	-	65	45	100	A+	7.0	4	28.0								
										-	MO/MM- / 400					TC-22	TCP --								
UNIV ROLL NO : 5232670092 CAND.NAME : VARUN KUMAR REG NO : 23-HM-154			FATHER'S NAME : SURINDER SINGH							MOTHER'S NAME : ALKA DEVI							Exam Type : Re-Appear								
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	14	13	30	42	32	70	-	-	-	-	56	45	100	B+	6.0	6	36.0	-	-	-	Reappear Paper Code (BBA103)				
Statistics for Business Decisions (BBA103)	22	13	30	20^	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0								
Entrepreneurship Development (BBA104)	24	13	30	42	32	70	-	-	-	-	66	45	100	A+	7.0	6	42.0								
Environmental Science (ENVS2AECC02)	-	-	-	65	45	100	-	-	-	-	65	45	100	A+	7.0	4	28.0								
										-	MO/MM- / 400					TC-22	TCP --								

UNIV ROLL NO : 5242670001 CAND.NAME : AARTI DEVI REG NO : 24-HM-84			FATHER'S NAME : HANS RAJ							MOTHER'S NAME : REENA KUMARI							Exam Type : Re-Appear								
			Paper Detail																						
Paper Name			IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.	
			M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Fundamental of Management and Organizational Behaviour (BBA102)			24	13	30	28^	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0	-	-	-	Reappear Paper Code (ENVS2AECC 02,BBA102)		
Statistics for Business Decisions (BBA103)			23	13	30	50	32	70	-	-	-	-	73	45	100	A++	7.5	6	45.0						
Entrepreneurship Development (BBA104)			22	13	30	36^	32	70	-	-	-	-	58	45	100	B+	6.0	6	36.0						
Environmental Science (ENVS2AECC02)			-	-	-	25^	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0						
												-	MO/MM- / 400					TC-22	TCP --						
UNIV ROLL NO : 5242670004 CAND.NAME : ABHISHEK THAKUR REG NO : 24-HM-29			FATHER'S NAME : SURJEET KUMAR							MOTHER'S NAME : SEEMA DEVI							Exam Type : Re-Appear								
			Paper Detail																						
Paper Name			IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.	
			M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Fundamental of Management and Organizational Behaviour (BBA102)			23	13	30	28^	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0	-	-	-	Reappear Paper Code (BBA102)		
Statistics for Business Decisions (BBA103)			23	13	30	46	32	70	-	-	-	-	69	45	100	A+	7.0	6	42.0						
Entrepreneurship Development (BBA104)			20	13	30	40	32	70	-	-	-	-	60	45	100	A	6.5	6	39.0						
Environmental Science (ENVS2AECC02)			-	-	-	45	45	100	-	-	-	-	45	45	100	C	5.0	4	20.0						
												-	MO/MM- / 400					TC-22	TCP --						
UNIV ROLL NO : 5242670013 CAND.NAME : AMANE THAKUR REG NO : 24-HM-51			FATHER'S NAME : RAJ KUMAR							MOTHER'S NAME : ACHLA KUMARI							Exam Type : Re-Appear								
			Paper Detail																						
Paper Name			IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.	
			M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Fundamental of Management and Organizational Behaviour (BBA102)			21	13	30	11^	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0	-	-	-	Reappear Paper Code (BBA102)		
Statistics for Business Decisions (BBA103)			26	13	30	48	32	70	-	-	-	-	74	45	100	A++	7.5	6	45.0						
Entrepreneurship Development (BBA104)			20	13	30	32	32	70	-	-	-	-	52	45	100	B	5.5	6	33.0						
Environmental Science (ENVS2AECC02)			-	-	-	45^	45	100	-	-	-	-	45	45	100	C	5.0	4	20.0						
												-	MO/MM- / 400					TC-22	TCP --						
UNIV ROLL NO : 5242670023 CAND.NAME : ARYAN REG NO : 24-HM-190			FATHER'S NAME : SANJEEV KUMAR							MOTHER'S NAME : SANTOSH SHARMA							Exam Type : Re-Appear								
			Paper Detail																						
Paper Name			IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.	
			M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Fundamental of Management and Organizational Behaviour (BBA102)			21	13	30	17^	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0	-	-	-	Reappear Paper Code (BBA102)		
Statistics for Business Decisions (BBA103)			23	13	30	49	32	70	-	-	-	-	72	45	100	A++	7.5	6	45.0						
Entrepreneurship Development (BBA104)			25	13	30	32	32	70	-	-	-	-	57	45	100	B+	6.0	6	36.0						
Environmental Science (ENVS2AECC02)			-	-	-	56	45	100	-	-	-	-	56	45	100	B+	6.0	4	24.0						
												-	MO/MM- / 400					TC-22	TCP --						
UNIV ROLL NO : 5242670032 CAND.NAME : DIYA REG NO : 24-HM-43			FATHER'S NAME : BALVINDER SINGH							MOTHER'S NAME : ANJANA							Exam Type : Re-Appear								
			Paper Detail																						
Paper Name			IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.	
			M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
Fundamental of Management and Organizational Behaviour (BBA102)			22	13	30	32	32	70	-	-	-	-	54	45	100	B	5.5	6	33.0	6.32	-	A	Pass		
Statistics for Business Decisions (BBA103)			23	13	30	51	32	70	-	-	-	-	74	45	100	A++	7.5	6	45.0						
Entrepreneurship Development (BBA104)			17	13	30	43	32	70	-	-	-	-	60	45	100	A	6.5	6	39.0						
Environmental Science (ENVS2AECC02)			-	-	-	50^	45	100	-	-	-	-	50	45	100	B	5.5	4	22.0						
												-	MO/MM- 238 / 400					TC-22	TCP - 139.00						

UNIV ROLL NO : 5242670037 CAND.NAME : KARTIK REG NO : 24-HM-191			FATHER'S NAME : PRITAM CHAND							MOTHER'S NAME : SHABNAM SHARMA							Exam Type : Re-Appear								
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	21	13	30	19^	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0	-	-	-	Reappear Paper Code (BBA102)				
Statistics for Business Decisions (BBA103)	23	13	30	49	32	70	-	-	-	-	72	45	100	A++	7.5	6	45.0								
Entrepreneurship Development (BBA104)	21	13	30	37^	32	70	-	-	-	-	58	45	100	B+	6.0	6	36.0								
Environmental Science (ENV2AECC02)	-	-	-	45^	45	100	-	-	-	-	45	45	100	C	5.0	4	20.0								
										-	MO/MM- / 400					TC-22	TCP --								
UNIV ROLL NO : 5242670038 CAND.NAME : KARTIK THAKUR REG NO : 24-HM-6			FATHER'S NAME : OM CHAND							MOTHER'S NAME : MANORAMA DEVI							Exam Type : Re-Appear								
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	21	13	30	42	32	70	-	-	-	-	63	45	100	A	6.5	6	39.0	-	-	-	Reappear Paper Code (ENV2AECC 02)				
Statistics for Business Decisions (BBA103)	23	13	30	51	32	70	-	-	-	-	74	45	100	A++	7.5	6	45.0								
Entrepreneurship Development (BBA104)	21	13	30	33	32	70	-	-	-	-	54	45	100	B	5.5	6	33.0								
Environmental Science (ENV2AECC02)	-	-	-	40^	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0								
										-	MO/MM- / 400					TC-22	TCP --								
UNIV ROLL NO : 5242670039 CAND.NAME : KASHIK REG NO : 24-HM-24			FATHER'S NAME : RAKESH KUMAR							MOTHER'S NAME : KAMLESH KUMARI							Exam Type : Re-Appear								
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	24	13	30	38	32	70	-	-	-	-	62	45	100	A	6.5	6	39.0	6.36	-	A	Pass				
Statistics for Business Decisions (BBA103)	24	13	30	36^	32	70	-	-	-	-	60	45	100	A	6.5	6	39.0								
Entrepreneurship Development (BBA104)	24	13	30	44	32	70	-	-	-	-	68	45	100	A+	7.0	6	42.0								
Environmental Science (ENV2AECC02)	-	-	-	48	45	100	-	-	-	-	48	45	100	C	5.0	4	20.0								
										-	MO/MM- 238 / 400					TC-22	TCP - 140.00								
UNIV ROLL NO : 5242670041 CAND.NAME : KAVYAM KANUGO REG NO : 24-HM-91			FATHER'S NAME : SUSHIL KUMAR							MOTHER'S NAME : CHANCHAL KANUGO							Exam Type : Re-Appear								
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	23	13	30	14^	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0	-	-	-	Reappear Paper Code (ENV2AECC 02,BBA102,BB A104)				
Statistics for Business Decisions (BBA103)	23	13	30	52	32	70	-	-	-	-	75	45	100	O	8.0	6	48.0								
Entrepreneurship Development (BBA104)	24	13	30	22^	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0								
Environmental Science (ENV2AECC02)	-	-	-	30^	45	100	-	-	-	-	-	45	100	F	0.0	4	0.0								
										-	MO/MM- / 400					TC-22	TCP --								
UNIV ROLL NO : 5242670043 CAND.NAME : KHUSHI SHARMA REG NO : 24-HM-19			FATHER'S NAME : GANESH DUTT							MOTHER'S NAME : BUBBLY DEVI							Exam Type : Re-Appear								
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	22	13	30	36	32	70	-	-	-	-	58	45	100	B+	6.0	6	36.0	6.09	-	A	Pass				
Statistics for Business Decisions (BBA103)	25	13	30	32^	32	70	-	-	-	-	57	45	100	B+	6.0	6	36.0								
Entrepreneurship Development (BBA104)	24	13	30	41	32	70	-	-	-	-	65	45	100	A+	7.0	6	42.0								
Environmental Science (ENV2AECC02)	-	-	-	47^	45	100	-	-	-	-	47	45	100	C	5.0	4	20.0								
										-	MO/MM- 227 / 400					TC-22	TCP - 134.00								

UNIV ROLL NO : 5242670046 CAND.NAME : KOMAL THAKUR REG NO : 24-HM-77			FATHER'S NAME : SURJEET SINGH							MOTHER'S NAME : RAJNI DEVI							Exam Type : Re-Appear								
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	24	13	30	34	32	70	-	-	-	-	58	45	100	B+	6.0	6	36.0	6.59	-	A+	Pass				
Statistics for Business Decisions (BBA103)	23	13	30	47	32	70	-	-	-	-	70	45	100	A++	7.5	6	45.0								
Entrepreneurship Development (BBA104)	26	13	30	32	32	70	-	-	-	-	58	45	100	B+	6.0	6	36.0								
Environmental Science (ENV52AECC02)	-	-	-	68^	45	100	-	-	-	-	68	45	100	A+	7.0	4	28.0								
										-	MO/MM- 254 / 400					TC-22	TCP - 145.00								
UNIV ROLL NO : 5242670047 CAND.NAME : KRITIKA SHARMA REG NO : 24-HM-32			FATHER'S NAME : DINESH KUMAR							MOTHER'S NAME : REETA DEVI							Exam Type : Re-Appear								
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	23	13	30	38^	32	70	-	-	-	-	61	45	100	A	6.5	6	39.0	6.23	-	A	Pass				
Statistics for Business Decisions (BBA103)	23	13	30	45	32	70	-	-	-	-	68	45	100	A+	7.0	6	42.0								
Entrepreneurship Development (BBA104)	21	13	30	34^	32	70	-	-	-	-	55	45	100	B+	6.0	6	36.0								
Environmental Science (ENV52AECC02)	-	-	-	45*^	45	100	-	-	-	1	45	45	100	C	5.0	4	20.0								
										1	MO/MM- 229 / 400					TC-22	TCP - 137.00								
UNIV ROLL NO : 5242670051 CAND.NAME : NANCY DHIMAN REG NO : 24-HM-18			FATHER'S NAME : ANIL KUMAR							MOTHER'S NAME : REENA DEVI							Exam Type : Re-Appear								
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	24	13	30	45	32	70	-	-	-	-	69	45	100	A+	7.0	6	42.0	-	-	-	Reappear Paper Code (BBA103)				
Statistics for Business Decisions (BBA103)	27	13	30	20^	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0								
Entrepreneurship Development (BBA104)	24	13	30	43	32	70	-	-	-	-	67	45	100	A+	7.0	6	42.0								
Environmental Science (ENV52AECC02)	-	-	-	64	45	100	-	-	-	-	64	45	100	A	6.5	4	26.0								
										-	MO/MM- / 400					TC-22	TCP - -								
UNIV ROLL NO : 5242670054 CAND.NAME : OM THAKUR REG NO : 24-HM-17			FATHER'S NAME : AJAY KUMAR							MOTHER'S NAME : KANTA DEVI							Exam Type : Re-Appear								
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	24	13	30	8^	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0	-	-	-	Reappear Paper Code (BBA102,BBA 103,BBA104)				
Statistics for Business Decisions (BBA103)	23	13	30	6^	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0								
Entrepreneurship Development (BBA104)	17	13	30	15^	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0								
Environmental Science (ENV52AECC02)	-	-	-	45	45	100	-	-	-	-	45	45	100	C	5.0	4	20.0								
										-	MO/MM- / 400					TC-22	TCP - -								
UNIV ROLL NO : 5242670055 CAND.NAME : PAYAL CHAMBYAL REG NO : 24-HM-66			FATHER'S NAME : RAVI KUMAR							MOTHER'S NAME : SONU KUMARI							Exam Type : Re-Appear								
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	23	13	30	26^	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0	-	-	-	Reappear Paper Code (BBA102,BBA 104)				
Statistics for Business Decisions (BBA103)	23	13	30	47	32	70	-	-	-	-	70	45	100	A++	7.5	6	45.0								
Entrepreneurship Development (BBA104)	23	13	30	31^	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0								
Environmental Science (ENV52AECC02)	-	-	-	48	45	100	-	-	-	-	48	45	100	C	5.0	4	20.0								
										-	MO/MM- / 400					TC-22	TCP - -								

UNIV ROLL NO : 5242670062 CAND.NAME : PRINCE KUMAR REG NO : 24-HM-14			FATHER'S NAME : SURESH KUMAR							MOTHER'S NAME : PAWANA KUMARI							Exam Type : Re-Appear								
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	22	13	30	29^	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0				Reappear Paper Code (BBA102,BBA 103)				
Statistics for Business Decisions (BBA103)	23	13	30	18^	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0								
Entrepreneurship Development (BBA104)	21	13	30	34	32	70	-	-	-	-	55	45	100	B+	6.0	6	36.0								
Environmental Science (ENV2AEECC02)	-	-	-	50	45	100	-	-	-	-	50	45	100	B	5.5	4	22.0								
										-	MO/MM- / 400					TC-22	TCP --								
UNIV ROLL NO : 5242670077 CAND.NAME : ROHIT KUMAR REG NO : 24-HM-20			FATHER'S NAME : KAMLESH KUMAR							MOTHER'S NAME : SAPNA DEVI							Exam Type : Re-Appear								
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	26	13	30	33^	32	70	-	-	-	-	59	45	100	B+	6.0	6	36.0				Reappear Paper Code (BBA102,BBA 103)				
Statistics for Business Decisions (BBA103)	28	13	30	2^	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0								
Entrepreneurship Development (BBA104)	21	13	30	37^	32	70	-	-	-	-	58	45	100	B+	6.0	6	36.0								
Environmental Science (ENV2AEECC02)	-	-	-	45	45	100	-	-	-	-	45	45	100	C	5.0	4	20.0								
										-	MO/MM- / 400					TC-22	TCP --								
UNIV ROLL NO : 5242670080 CAND.NAME : SAKSHI REG NO : 24-HM-55			FATHER'S NAME : SURESH KUMAR							MOTHER'S NAME : KARMI DEVI							Exam Type : Re-Appear								
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	24	13	30	17^	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0				Reappear Paper Code (BBA102,BBA 104)				
Statistics for Business Decisions (BBA103)	23	13	30	50	32	70	-	-	-	-	73	45	100	A++	7.5	6	45.0								
Entrepreneurship Development (BBA104)	21	13	30	28^	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0								
Environmental Science (ENV2AEECC02)	-	-	-	45	45	100	-	-	-	-	45	45	100	C	5.0	4	20.0								
										-	MO/MM- / 400					TC-22	TCP --								
UNIV ROLL NO : 5242670085 CAND.NAME : SAYYAM LAKHANPAL REG NO : 24-HM-15			FATHER'S NAME : SURESH KUMAR							MOTHER'S NAME : RAJ KUMARI							Exam Type : Re-Appear								
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	24	13	30	32	32	70	-	-	-	-	56	45	100	B+	6.0	6	36.0	6.09	-	A	Pass				
Statistics for Business Decisions (BBA103)	26	13	30	48	32	70	-	-	-	-	74	45	100	A++	7.5	6	45.0								
Entrepreneurship Development (BBA104)	20	13	30	32^	32	70	-	-	-	1	52	45	100	B	5.5	6	33.0								
Environmental Science (ENV2AEECC02)	-	-	-	45	45	100	-	-	-	-	45	45	100	C	5.0	4	20.0								
										1	MO/MM- 227 / 400					TC-22	TCP - 134.00								
UNIV ROLL NO : 5242670086 CAND.NAME : SHAGUN THAKUR REG NO : 24-HM-88			FATHER'S NAME : RAVI KUMAR							MOTHER'S NAME : NEELAM KUMARI							Exam Type : Re-Appear								
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	23	13	30	39	32	70	-	-	-	-	62	45	100	A	6.5	6	39.0	6.50	-	A+	Pass				
Statistics for Business Decisions (BBA103)	25	13	30	40	32	70	-	-	-	-	65	45	100	A+	7.0	6	42.0								
Entrepreneurship Development (BBA104)	24	13	30	35	32	70	-	-	-	-	59	45	100	B+	6.0	6	36.0								
Environmental Science (ENV2AEECC02)	-	-	-	61^	45	100	-	-	-	-	61	45	100	A	6.5	4	26.0								
										-	MO/MM- 247 / 400					TC-22	TCP - 143.00								

UNIV ROLL NO : 5242670090 CAND.NAME : SHIVANGNI SHARMA REG NO : 24-HM-52	FATHER'S NAME : RAJ KUMAR									MOTHER'S NAME : KAVITA				Exam Type : Re-Appear											
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	23	13	30	28^	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0				Reappear Paper Code (BBA102)				
Statistics for Business Decisions (BBA103)	25	13	30	47	32	70	-	-	-	-	72	45	100	A++	7.5	6	45.0								
Entrepreneurship Development (BBA104)	21	13	30	32	32	70	-	-	-	-	53	45	100	B	5.5	6	33.0								
Environmental Science (ENV2AEECC02)	-	-	-	47	45	100	-	-	-	-	47	45	100	C	5.0	4	20.0								
										-	MO/MM- / 400					TC-22	TCP - -								
UNIV ROLL NO : 5242670091 CAND.NAME : SHREYA REG NO : 24-HM-188	FATHER'S NAME : PARDEEP SINGH									MOTHER'S NAME : NEELAM KUMARI				Exam Type : Re-Appear											
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	23	13	30	48	32	70	-	-	-	-	71	45	100	A++	7.5	6	45.0	7.00	-	A++	Pass				
Statistics for Business Decisions (BBA103)	25	13	30	45	32	70	-	-	-	-	70	45	100	A++	7.5	6	45.0								
Entrepreneurship Development (BBA104)	24	13	30	35	32	70	-	-	-	-	59	45	100	B+	6.0	6	36.0								
Environmental Science (ENV2AEECC02)	-	-	-	65^	45	100	-	-	-	-	65	45	100	A+	7.0	4	28.0								
										-	MO/MM- 265 / 400					TC-22	TCP - 154.00								
UNIV ROLL NO : 5242670093 CAND.NAME : SHUBHAM DHARIWAL REG NO : 24-HM-80	FATHER'S NAME : ASHWANI KUMAR									MOTHER'S NAME : NISHA KUMARI				Exam Type : Re-Appear											
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	23	13	30	32	32	70	-	-	-	-	55	45	100	B+	6.0	6	36.0	6.36	-	A	Pass				
Statistics for Business Decisions (BBA103)	24	13	30	44	32	70	-	-	-	-	68	45	100	A+	7.0	6	42.0								
Entrepreneurship Development (BBA104)	22	13	30	34	32	70	-	-	-	-	56	45	100	B+	6.0	6	36.0								
Environmental Science (ENV2AEECC02)	-	-	-	60^	45	100	-	-	-	-	60	45	100	A	6.5	4	26.0								
										-	MO/MM- 239 / 400					TC-22	TCP - 140.00								
UNIV ROLL NO : 5242670094 CAND.NAME : SHUBHAM SHARMA REG NO : 24-HM-26	FATHER'S NAME : SUNIL SHARMA									MOTHER'S NAME : KIRAN SHARMA				Exam Type : Re-Appear											
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	21	13	30	32^	32	70	-	-	-	-	53	45	100	B	5.5	6	33.0	-	-	-	Reappear Paper Code (BBA103)				
Statistics for Business Decisions (BBA103)	23	13	30	21^	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0								
Entrepreneurship Development (BBA104)	17	13	30	43	32	70	-	-	-	-	60	45	100	A	6.5	6	39.0								
Environmental Science (ENV2AEECC02)	-	-	-	46	45	100	-	-	-	-	46	45	100	C	5.0	4	20.0								
										-	MO/MM- / 400					TC-22	TCP - -								
UNIV ROLL NO : 5242670096 CAND.NAME : SNEHA SINGH REG NO : 24-HM-27	FATHER'S NAME : SUNIL THAKUR									MOTHER'S NAME : SAPNA KUMARI				Exam Type : Re-Appear											
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
Fundamental of Management and Organizational Behaviour (BBA102)	25	13	30	35	32	70	-	-	-	-	60	45	100	A	6.5	6	39.0	6.50	-	A+	Pass				
Statistics for Business Decisions (BBA103)	24	13	30	32^	32	70	-	-	-	-	56	45	100	B+	6.0	6	36.0								
Entrepreneurship Development (BBA104)	24	13	30	52	32	70	-	-	-	-	76	45	100	O	8.0	6	48.0								
Environmental Science (ENV2AEECC02)	-	-	-	45	45	100	-	-	-	-	45	45	100	C	5.0	4	20.0								
										-	MO/MM- 237 / 400					TC-22	TCP - 143.00								

UNIV ROLL NO : 5242670099 CAND.NAME : TARESH BANSAL REG NO : 24-HM-189			FATHER'S NAME : SUMEET BANSAL						MOTHER'S NAME : ARCHANA BANSAL						Exam Type : Re-Appear							
Paper Detail																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
Fundamental of Management and Organizational Behaviour (BBA102)	26	13	30	46	32	70	-	-	-	-	72	45	100	A++	7.5	6	45.0	7.18	-	A++	Pass	
Statistics for Business Decisions (BBA103)	27	13	30	50	32	70	-	-	-	-	77	45	100	O	8.0	6	48.0					
Entrepreneurship Development (BBA104)	28	13	30	32	32	70	-	-	-	-	60	45	100	A	6.5	6	39.0					
Environmental Science (ENV52AECC02)	-	-	-	60^	45	100	-	-	-	-	60	45	100	A	6.5	4	26.0					
										-	MO/MM- 269 / 400					TC-22	TCP - 158.00					

This result is declared as per the university ordinance and result declaration rules adopted by the university from time to time. The result is being processed through ERP system on the basis of the awards entered and verified by the colleges and the concerned examination branches.

A.R. / D.R. (EXAM-II)
H.P.University, Shimla-5.

Dated :

Controller of Examinations
H.P.University, Shimla-5.

Note: This TR is also available on the Concerned Examination Branches, College id's and Department Chairman id's for their information and record purpose.

A.R. / D.R. (EXAM-II)
H.P.University, Shimla-5.